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The table below presents the percentage profit earned by two companies A and B during the
period 2013 to 2018. Based on the data given in the table, answer five questions that follow
Yearwise percentage (%) profit

Year % Profit Earned
A B
2013 20 % 35 %
2014 32 % 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
[Wthiero ik B = {Income—EX;.:-enditure} +100]
Expenditure
Sub questions

Question Number : 1 Question Id : 6154758748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company B in the vear 2013 was ¥ 17 lakhs, then what was 1ts income
in that year?

(1) T 22.95 lakhs (2) ¥ 23.15 lakhs
(3) T 24,50 lakhs (4) ¥ 25.65 lakhs
Options:

E1547534101. 1
E1547534102. 2
51547534103, 3
51547534104, 4

Question Number : 2 Question Id : 6154758749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the income of company A in the year 2017 1s ¥ 26 lakhs. then what 1s the expenditure of

company A 1n that vear?

(1) T 33.8 lakhs (2) ¥ 22.5lakhs
(3) T 21.6 lakhs (4) % 20.0 lakhs
Options:

615475241051
E15475341086. 2
E1547534107. 3
51547534108, 4

Question Number : 3 Question Id : 6154758750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If the sum of expenditure of company B 1n the vears 2014 and 2017 together 1s ¥ 48 lakhs.

then what 1s the total income of company B in these two vears together?

(1) % 62.4 lakhs (2) ¥ 36.2 lakhs
(3) ¥ 64.0 lakhs (4) ¥ 65.5 lakhs
Options:

E1547534108. 1
E1547534110. 2
51547534111, 3
61547534117 4

Question Number : 4 Question Id : 6154758751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear 1s the ratio of income to expenditure of company A the maximum?
(1) 2013 (2) 2017
(3) 2015 (4) 2018

Options:

61547534113,
61547534114,
61547554115,
61547534116,

o LIPS

Question Number : 5 Question Id : 6154758752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company A in the yvear 2013 and company B in the yvear 2018 are the

same, and the income of company B 1n the vear 2018 1s ¥ 77 lakhs. then what 1s the income
of company A 1n the year 20137

(1) T 55 lakhs (2) ¥ 66 lakhs
(3) ¥ 06 lakhs (4) ¥ 64 lakhs
Options:

E1547534117. 1
61547534118, 2
61547534119 3
61547534120, 4

Question Id : 6154758747 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Juestion Label - Comprehension
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A B
2013 20 % 35 %
2014 32 % 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
i (37 — ==99)
(=1, =9 % = T * 100
Sub questions

Question Number : 1 Question Id : 6154758748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I3 =9 2013 H o1 B 1 =g %, 17 @@ 91, 91 39 99 SR AT TRl o 7

(1) % 22.95%4 (2) = 23.15 9@
(3) ¥. 24.50 =i (4) %. 25.65 @g
Options:

61547534101, 1
61547534102 2
E1547534103. 3
E1547534104. 4

Question Number : 2 Question Id : 6154758749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz a9 2017 Fot A F1 9T 5. 26 @G 2, O 39 99 T A FT =G A 27

(1) %. 33.8 ™ (2) % 22574
(3) % 21.6 4 (4) =% 20.0=m3
Options:

615475341051
61547524108, 2
E1547534107. 3
51547534108, 4

Question Number : 3 Question Id : 6154758750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
a2 ¥ 2014 37 2017 § FoH B F =99 F1 T UA F. 48 @@ 7, 7 A 241 a9 4 F B F FA a9
TRl 27

(1) %. 62.4 @ig (2) =% 36.2< M3
(3) %. 64.0 = ir@ (4) =% 6b.0@@
Options:

615475241091
E1547534110. 2
51547534111, 3
615475341172 4

Question Number : 4 Question Id : 6154758751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o =9 # Fo1 A i 3™ 3R =E T AT TEnaE A

(1) 2013 2y 2017
(3) 2015 (4) 2018
Options:

615475341121
61547534114, 2
61547534115 3
E1547534116. 4

Question Number : 5 Question Id : 6154758752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T2 99 2013 H o A F1 =59 3E =99 2018 § HUH B F1 =7 §9E 7, WX A9 2018 § w9l B Fi A=
%, 77 @@ E, 91 99 2013 § F9E1 A Fi 377 A B 7

(1) %, bb wig (2) =. 66<@
(3) %. 06 =™ (4) % 644
Options:

615475241171
615475241158, 2
E15475341143. 3
E1547534120. 4

Sub-Section Number: 2
Sub-Section Id: 615475383
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154758753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Consider the example of anumana given below :

(a) The mountain 1s fiery
(b) Because 1t has smoke
(c) Wherever there 1= smoke, there 1s fire.

Which one of the following expresses Vyaptl (relation of invariable concomitance?

(1) The relation of invariable concomitance between mountain and fire

(2) The relation of invarmahle concomitance between mountain and smoke

(3) The relation of invariable concomitance between fire and smoke

(4) The relation of invariable concomitance between perceiver and the smoke
Options:

E1547534121. 1
61547534122 2
61547534123 3
61547534124, 4

Question Number : 6 Question Id : 6154758753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475341211

61547524122 2

61547534122,

61547534124 4

Question Number : 7 Question Id : 6154758754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If income of X 1s 20% more than that of Y and income of Y 1s 25% less than that of Z. then the
total income of X. Y and Z are 1n which of the following ratios?

(1) 18:15: 20 2y 18:15H:10
(3) 18:10: 15 (4 18:12:15
Options:

615475241251
E1547534126. 2
E1547534127. 3
61547534128, 4

Question Number : 7 Question Id : 6154758754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Itz X 1 5= Y 1 2 | 20% w9E 2 #AR Y #r o Z i 5a J 25% # B, a1 X, Y 3R Z A g
AT = a9 1 99 59eE 27

(1) 18:15:20 2) 18:15:10
(3) 18:10:15 (4) 18:12:15
Options:

E1547534125. 1
61547534126, 2
61547534127, 3
61547534128, 4

Question Number : 8 Question Id : 6154758755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a class, there are 60% female students and the remaining are male. 40% of the female
students and 70% of the male students have opted for the research methodology course. If in
all. 60 students have not opted for the research methdology course. which of the following 1s
the total number of students in the class?

(1) 120 (2) 125
(3) 130 (4) 140
Options:

615475341291
E1547534120. 2
E1547534121. 3
B154753413%2. 4

Question Number : 8 Question Id : 6154758755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 120 (2} 125

(3) 130 (4) 140

Options:

E1547534129. 1
E1547534130. 2
51547534121, 3
61547534132 4

Question Number : 9 Question Id : 6154758756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Three taps A, B and C can fill a tank 1n 8. 10 and 12 hours respectively. The tap A 1s open all

the time continuously. But taps B and C are open for one hour each alternately. How long
will it take the tank to be full?

(1) 4 hours (2) 4E hours
27
2 1
(3) 4§ hours (4) 45 hours

Options:

61547534133, 1
61547534124 2
61547534135 2
61547534136 4

Question Number : 9 Question Id : 6154758756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475341331
E1547524134 2
61547534135
61547534136 4

Question Number : 10 Question Id : 6154758757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Montreal protocol was signed in order to address which of the following environmental

1ssues?
(1) Tropospheric ozone pollution (2) Depletion of ozone 1n the stratosphere
(3) Global warming (4) Acid rain

Options:

E1547534137. 1
61547534138, 2
61547534135 3
61547534140, 4

Question Number : 10 Question Id : 6154758757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534137, 1
E1547534128. 2
E1547534139. 3
51547534140, 4

Question Number : 11 Question Id : 6154758758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following factors is a deterrent for the students to do well in higher

education?

(1) Political orientation (Z) Academic strategies

(3) Comprehension ability (4) Academic discourse
Options:

E1547534141. 1
E1547534142. 2
51547534143 3
51547534144, 4

Question Number : 11 Question Id : 6154758758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547534141, 1
61547534142 2
£1547534142 =2
61547524144, 4

Question Number : 12 Question Id : 6154758759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Schistosomiasis, a common water contact disease, 1s spread by which of the following?

(1) Giardia (2) E.Coli
(3) Cercaria (4) Amoeba
Options:

615475341451
6154753414E. 2
61547534147, 3
61547524145 4

Question Number : 12 Question Id : 6154758759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  frnfsan (2) 3. Fems
(3) T (4) a7fiEn
Options:

E1547534145. 1
B154753414E. 2
61547534147, 3
6154752341458 4

Question Number : 13 Question Id : 6154758760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the technical term used to describe body language from the following

(1) Proxemics (2) Chronemics
(3) Kinesics (4) Haptics
Options:

E15475341459. 1



E1547534150. 2
61547534151, 3
61547534152, 4

Question Number : 13 Question Id : 6154758760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154753414591
61547534150, 2
61547534151, 3
E1547534152. 4

Question Number : 14 Question Id : 6154758761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of one way process of communication. from the following
sequences

(1) Sender, Decoding, Message, Channel, Encoding. Recelver
(2) Sender, Encoding. Message. Channel. Decoding. Recelver
(3) Receiver. Encoding. Message. Channel. Decoding. Sender
(4) Sender, Message, Decoding, Encoding, Channel. Receiver

Options:

61547534153 1
61547534154 2
61547524155, 5
61547534156 4

Question Number : 14 Question Id : 6154758761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(2) U9, FehoH, HaTI, HISAH, e, U
(3)  WIA=Al, Hehad, WaW, T1AH, [, 96

Options:

615475341531
61547534154 2
61547524155 =
61547524156, 4



Question Number : 15 Question Id : 6154758762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the form of education having high potential for providing optimism, self-esteem and

commitment to personal fulfillment, ethical judgement and social responsibility from the
following :

(1) Formal education (2) Technical education
(3) Moral education (4) Value education
Options:

5154752341571
61547534158, 2
615475234159, 3
61547524160, 4

Question Number : 15 Question Id : 6154758762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475341571
61547534158, 2
E1547534159. 3
E1547534160. 4

Question Number : 16 Question Id : 6154758763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

“Fire 1s cold, because 1t 1= a substance” — 1s an instance of which one of the hetuabhasas

(fallacy of inference)

(1) A siddha (unproved middle term)

(2) Badhita (non-inferential contradicted middle)
(3) Virudha (contradictory middle)

(4) Sarvabhicara (irregular middle)

Options:

61547534161, 1
E1547524162. 2
61547524162 5
61547534164 4



Question Number : 16 Question Id : 6154758763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e ﬁ -.-.-_I.III—_”"‘ [xa % ;FEH-T—_F‘: _,‘J qE Tj.q; m?j ;:F'.;” — 'hﬂﬁﬁﬂﬁ ]-:[ ﬁ e %l‘c“’l-“H l'i-"il-r-h':; E'l-q';l =1 F{E-I"_‘{ %:-;,
(1) Afog (g 749 =) © (s s )
(3) famg (==mardi mex) W e ()

Options:

E1547534161. 1
61547534162 2
61547534163, 3
61547534164, 4

Question Number : 17 Question Id : 6154758764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements 1s correct with reference to a deductive argument?

(1)
(2)
(3)

(4)

Options:

The relation between premises and conclusion 1s one of matter of fact
The relation between premises and conclusion 1s one of logical necessity
The relation between premises and conclusion 1s that of empirical necessity

the relation between premises and conclusion 15 a matter of ascertainment

probability

E1547534165. 1
61547534166, 2
61547534167, 3
61547534168, 4

of

Question Number : 17 Question Id : 6154758764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547524165 1



E1547534166. 2
61547534167, 3
61547534168, 4

Question Number : 18 Question Id : 6154758765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If two propositions are related in such a way that they cannot both be true together.

although both may be false together. then such a relation 1s considered to be

(1) Contrary (2) Contradictory
(3) Subaltern (4) Sub-contrary
Options:

51547534169 1
61547534170 2
61547524171, 3
61547524172, 4

Question Number : 18 Question Id : 6154758765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534169, 1
61547524170, 2
61547534171,
61547534172 4

Question Number : 19 Question Id : 6154758766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following 1s true with respect to the first figure of categorical syllogism?

(1) The middle term 1s the subject of the major premise and the predicate of the minor
premise

(2) The middle term 1s the predicate of the major premise and subject of the minor
premise

(3) The middle term 1s the subject of the major premise and the predicate of the

conclusion

(4) The middle term 1s the subject of the minor premise and the predicate of the

conclusion

Options:
15475341721

E1547534174. 2
61547534175 3
61547534176, 4

Question Number : 19 Question Id : 6154758766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
15475341721
C1547534174 2
61547534175 2
61547534176 4

Question Number : 20 Question Id : 6154758767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a developing country like India which among the following statements 1s indicative of

challenges 1n the context of computer based testing?
(1) Many teachers do not have knowledge of computer

(2) Computer will destroy guru-shishya relationship

(3) Indian government can't afford to buy a large number of computers
(4) In remote locations availability of computer and electricity 1s not feasible
Options:

E1547534177. 1
B1547534178. 2
615475341759 3
61547524180, 4

Question Number : 20 Question Id : 6154758767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475341771
615475234178 2
61547534179, 5
61547534180 4

Question Number : 21 Question Id : 6154758768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s least important for the academic success of students?

(1) Cognitive competence (2) Emotional competence
(3) Legzal competence (4) Social competence
Options:

E15475241851. 1



E1547534182. 2
61547534183, 3
61547534184, 4

Question Number : 21 Question Id : 6154758768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  FAETHF HEFwa (2) EATTHF TEEA
(3) Tt Teaaan (4) HEITTF FEHAT
Options:

E1547534181. 1
61547534182, 2
61547534183 3
61547534154, 4

Question Number : 22 Question Id : 6154758769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to one paradigm of research. following sequence 1s followed by the researchers :

Theory — Generation of hypotheses — Data collection — Data analysis and results —
Hypotheses confirmed or rejected — Rewvision of theory

This way of conceptualizing rezearch 1s based on which of the following :

(1) Inductive approach (2) Deductive approach
(3) Qualitative approach (4) Interpretative approach
Options:

515475341851
61547534186, 2
61547534187, 3
615475241858, 4

Question Number : 22 Question Id : 6154758769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534185, 1
61547534186 2
E1547524187. 2
61547524188, 4

Question Number : 23 Question Id : 6154758770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements fails to indicate the intent of purposive samphng?

(1) Purposive sampling 1s not the fundamental principle for selecting cases and
individuals 1n quahtative research

(2) Purposive sampling places the Investigator's research guestions at the forefront of
sampling considerations

(3) Theoretical saturation 1s a useful principle for making decision about sample size

(4) There 1= considerable disagreement about what 1s an acceptable mimimum sample
size 1n qualitative research

Options:

61547534189, 1
61547534190 2
61547524191, 5
61547534192 4

Question Number : 23 Question Id : 6154758770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TAETF TiAe9 F A1 9 39 ° T A1 FUE 39 A9 o Ggad w5 dEHd 27
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(2)  WIETH WidTl, IeERal & WeA1 1 GfEs =0 § I 291§ |

(3)  TidEw = WEER = 9R ° ol 4 o o dgias aqeatha v I fageE F

(4) T SHEGE § A Ufdgs SRR i =i & 9] o e 5auE 7 |
Options:
£1547534189. 1
£1547534190. 2
£1547534191. 3
£1547534192. 4

Question Number : 24 Question Id : 6154758771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the skills promoted by communication from the following :

(a) Reading and Listening
(b) Listeming and helping
(c) Helping and speaking

(d) Speaking and writing

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (d) only

(4) (c) and (d) only

Options:

61547534193, 1
61547534194 2
£1547524195 =2
615475234196, 4

Question Number : 24 Question Id : 6154758771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefatas 3 5 Uy g0 Haiad 26 91 Hise i TEae i

(a) = 9491 Ham
(b) S qGT HErEAl
()  TEEAT 99T TUT

(d)  THE q wEA

Hel e = 999
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Options:

5154752341593 1



E15475341394. 2
615475341585 3
615475341396, 4

Question Number : 25 Question Id : 6154758772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the oriental learning institutes in India from the following :

(a) Asiatic Society
(b) Madras Sansknt College
(c) Tezpur Umiversity

(d) Mythic Society

Choose the correct option :

(1) (a). (b) and (d) only
(2) (a). (b) and (c) only
(3) (a). (¢) and (d) only

(4) (b). (c) and (d) only

Options:

61547534197, 1
E1547524198. 2
61547524199, 5
61547534200 4

Question Number : 25 Question Id : 6154758772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(b) TG TEHA Fielw

(c) AT favatae™
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(1)  F== (). (b) = (d) @) #F9 (a), (b) 37 (c)
(3) A (a). (¢) 3R (d) 4) e (b). (¢) 3 (@)
Options:

615475341397, 1
6154752413958, 2
E1547534139%9. 3
51547534200, 4

Question Number : 26 Question Id : 6154758773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

With regard to “Digilocker”. which of the following statements are correct?

(a) It 1s a digital locker system offered by the Government under Digital India

Programme
(h) It provides financial and technical assistance to young start-up entrepreneurs
(c) It allows users to access their e-documents 1rrespective of physical location

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (¢) only

(4) (a). (b) and (c)

Options:
1547534201, 1



E1547534202. 2
61547534203, 3
61547534204, 4

Question Number : 26 Question Id : 6154758773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3)  Faw (b) #F (c) (4) F= (a), (b) 37 (c)
Options:

61547524201, 1
E1547534202. 2
E1547534203. 3
61547534204, 4

Question Number : 27 Question Id : 6154758774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements are correct?

(a) (Google’s web browser 1s called ‘Chrome’
(b) Apple’s web browser 1s called ‘Safart’

(c) “Mozilla firefox” 1s an open source web browsing software

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only

(4) (a). (b) and (c)

Options:

61547534205, 1
61547534206, 2
E15475324207. 2
615475234208, 4

Question Number : 27 Question Id : 6154758774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524205, 1
E1547534206. 2
E1547534207. 3



E1547534208. 4

Question Number : 28 Question Id : 6154758775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s/are correct?

(a) It 1s usually faster to access data stored in RAM than that in hard drive

(b) The hexadecimal number 99 1s the same as the decimal number 99

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)

Options:

61547534209, 1
61547534210 2
61547534211, =
1547534212 4

Question Number : 28 Question Id : 6154758775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547534208. 1
E1547534210. 2



E1547534211. 3
B154753421%. 4

Question Number : 29 Question Id : 6154758776 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements :

(a) The Millennium Development Goals were to be achieved by 2015

{(b) The Sustainable Development Goals will guide United Nations Development

Programme Poliey until 2035

(c) The Sustainable Development Goals came into effect in January 2016

Which of the above statements are correct?

(1) (a) and (b) only
(2) (b) and (c) only
(3) {a) and (c) only

{4y {a), (b) and (c)

Options:

61547534213, 1
61547534214 2
£1547524215 =2
615475234216, 4

Question Number : 29 Question Id : 6154758776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534213. 1
61547534214, 2
61547534215 3
61547534216, 4

Question Number : 30 Question Id : 6154758777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following statements regarding noise pollution :

(a) Noise levels decrease as we move away from the source of noise
(b) Materials with high surface/mass density act as good noise barriers
(c) Sound pressure of 2 i Pa corresponds to a noise of zero decibel

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a). (b) and (c)
Options:
615475342171
61547524218 2
61547524219, 3
61547524220, 4

Question Number : 30 Question Id : 6154758777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  Faw (a) F (c) (4)  (a). (b) 3 (c)
Options:

615475342171
61547534218, 2
61547524219, 3
E1547534220. 4

Question Number : 31 Question Id : 6154758778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below 1z a question followed by three statements.

Identify the statements, which 1s/are necessary to answer the question.

“What 1s the speed of the train’?

(a) The train crosses another train running in opposite direction in 20 seconds
(h) The train crosses a platform of length 300 m 1n 30 seconds
(c) The train crosses a pole 1n 10 seconds

Choose the most appropriate option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only

(4) (a). (b) and (c)

Options:
B1547534221. 1



B1547534222. 2
B1547534223. 3
61547534224, 4

Question Number : 31 Question Id : 6154758778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475342211
E1547534222 2
61547524222 3
E1547534224. 4

Question Number : 32 Question Id : 6154758779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements :

(a) Earth would be safer without greenhouse effect
(b) Major contribution to the greenhouse effect comes from carbon dioxade

(c) Earth's chimate was changing even before man appeared on earth

Which of the above statements are correct?

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a). (b) and (c)

Options:

61547534225, 1
61547534226 2
61547534227, 2
61547534228 4

Question Number : 32 Question Id : 6154758779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534225. 4



Question Number : 33 Question Id : 6154758780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In educational institutions, students usually have group journals/magazines and write 1n

them on regular basis. Which of the following statements are correct about journaling as a
method of informal assessment.

(a) As a tool that provides opportunity to the students to express their thoughts and i1deas
(b) As an opportunity to showease what they have learned

(c) As a way to cope with the stress

(d) As a tool to settle scores with the authority

Choose the correct option :

(1) (a) and (c) only
(2) (b) and (c) only
(3) (a) and (b) only

(4) (c) and (d) only
Options:
61547534229, 1
61547534220 2
61547534231, 2
61547534232 4

Question Number : 33 Question Id : 6154758780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



| o

Hegfor Tl § A fFaiat % o g sHew/ T w6 sl 3 3w e = 9 fomd w=

7 | feferiios o & UH ®E © HY9 TR R A WA (e T T, SITETeh GeaEa = Tgid & &9 5 =
37
(a)  TF UF UH] I09A0 7 A HETeEl i A0 [HER SN AT T ) AEE WS A E

(b) =14 7 I T O 7, 30 USRI i H UH AT E |
(c) =& W Ia% o1 UFH T E |

ol T =1 =99 W

(1) Fa (a) 77 (c) (2) T (b) 2 (c)
(3)  Fa (a) 3N (b) (4) A (c) 2 (d)
Options:

61547534229 1
61547524230, 2
E1547534221. 3
B1547534232. 4

Question Number : 34 Question Id : 6154758781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Spotting gaps 1n the research literature 1s the chief way of 1dentifying research questions. In

this context, ‘spotting gaps’ in the research lhiterature refers to :

(a) Identifving under-researched areas
(b) Recogmizing the gap between two researchers’ background
(c) Identifying inconsistent findings in an area of research

(d) Recognizing gap in the characteristics of sample and population

Select correct option :

(1) (a) and (c) only
(2) (b) and (d) only
(3) (a) and (b) only

(4) (c) and (d) only



Options:

61547534233 1
61547534234 2
E1547524235 =2
61547534226, 4

Question Number : 34 Question Id : 6154758781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547534233, 1
E1547534234. 2
E1547534235. 3
B1547534236. 4

Question Number : 35 Question Id : 6154758782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the List-I containing name of the Commissions with IList-II containing the
recommendation of that commission

List I List IT
(Commissions) (Recommendation)

(a) Radhakrishnan Commission (1) Introduction of 3 yvears of secondary
and 4 years of higher education
system

(b) Mudaliar Commission (11) Restructuring curriculum for multi-
disciphinary professionals

(c) Kothari Commission (i1) Integrating secondary and higher
education

(d) Sam Pitroda Commission (1v) Three vears of degree and 4 vears of

honours degree courses

Choose the correct option from those given below :

(1) (a)-(). (b)-(i1). (¢)-(ii1), (d)-(Gv)
(2) (a)-(11). (b)-(v). (c)-(1). (d)-(111)
(3) (a)-(m1). (b)-(1). (¢)-(iv). (d)-(11)
(4 (a)-@v). (b)-(am). (c)-(2). (d)-(11)
Options:

615475342571

61547534228 2

B1547534239. 3
61547534240, 4

Question Number : 35 Question Id : 6154758782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 36 Question Id : 6154758783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following environmental disasters with the words or phrases associated with

them.

Last I Last IT
(a) Bhopal gas tragedy (1)  Dumping of Hazardous substances
(b) Chernobyl disaster (11) Peroxvacetyl Nitrates (PAN)
() Love Canal tragedy (1) Nuclear accident
(d) Los Angeles smog (1v) Methyl Isocyamide

Choose the correct option from those given below :

(1) (a)-(11), (b)-(111), (c)-(1v), (d)-(1)
(2) (a)-(wv), (b)-(11), (¢)-(1), (d)-(11)
(3)  (a)-(i), B)-(). (©-(v), (d)-(ii)
(4) (a)-(v). (b)-(1). (¢)-(i11). (d)-(11)

Options:

61547534241, 1
61547534242 2
61547534243 =
61547534244 4

Question Number : 36 Question Id : 6154758783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeTeiEd Taui i ST 1 39 1Y FEiad Teg) A aEen J gEied #9 o

T - 1 T - IO
(@) 9IS TE AR (i) @A EET st
(b) =TI AT (i) T TEeE (TH)
(¢) = HATe AT (iii) iR gE
(d) =TE UaAeE W (iv) fourss smeamEEs

ffetEa fawem 7 & =8 faFed 94 ¢

(1) (a)-(1). (b)-(12). (c)-av), (d)-(1)
(2) (a)-(wv), (b)-(1), (¢)-(2). (d)-(11)
(3) (a)-(1). (b)-(1). (e)-(1v). (d)-(111)
4) (a)-(v), (b)-(1), (¢)-(111). (d)-(11)



Options:

61547534241, 1
61547534242 2
E1547524243 =2
61547534244 4

Question Number : 37 Question Id : 6154758784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-T with Last-II

List I Last IT
(Digital Imtiatives) (Purpose)
(a) SWAYAM (1) Integrated Library Management
software
(b) Spoken Tutoral (1) Robotics competition
(c) e-Granthalaya (1) Promotes IT lhteracy through open

source software

(d) e-Yantra (itv) Personalized and adaptive learning

Choose the correct option :

(1) (a)-(1), (b)-(v). (¢)-(11), (d)-(11)
(2) (a)-(1). (b)-(1). (¢)-(111), (d)-(1v)
(3) (a)-(1). (b)-(11). (¢)-(iv), (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)

Options:

61547534245, 1

£1547534246. 2

61547534247, 3

1547534248, 4

Question Number : 37 Question Id : 6154758784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (@-@. (b)-v). (c)-(1). (d)-(111)
(2)  (a)-(). (b)-(). (¢)-(1), (d)-(1v)
(3)  (a)-). (b)-(1). (c)-(v). (d)-(1)
(4) (a)-(v). (b)-(111). ()-(2). (d)-(1)

Options:

61547534245 1

61547534246 2

E1547534247. 3
E1547524248 4

Question Number : 38 Question Id : 6154758785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items given under Column II providing description with the items under Column I

indicating the basis.

(a)
(b)
(c)
(d)

Column I
(Basis)
Cognitive
Emotional
Social
Verbal

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(). (b)-(iid). (¢)-(iv). (d)-(ii)
(a)-(1v), (b)-(ii1), (c)-(1). (d)-(i1)
(a)-(v), (b)-(111). (2)-(11), (d)-(1)
(2)-(1v), (b)-(1). (e)-(11), (d)-(1i1)

B1547534249. 1
61547534250, 2
61547534251, 3
61547524252, 4

(1)
(11)
(1i1)

(1v)

Column IT
(Description)
Ability to relate to other
Ability to articulate the 1dea
Ability to read others' facial expression
Ability to solve abstract problem

Question Number : 38 Question Id : 6154758785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



H= T2 7 =wiem 11 =1 faamor #iem [ sar & arg gafea Hif

=iy - I *HreH - 11
(FTET) (o=
(a) FETEF Q) ¥ % =19 GEG SIS i T
(b)  HIEATHF (i) =Rl w gEwE e A
(¢) THITTF (ii) T F == F FE-9TF F TS F TEIAT
(d) ifE® (iv) A T9EN 1 S PR = A

TE T ==

(1) (@)-@). (b)-(). (c)-(av). (d)-(11)
(2) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
(3) (a)-v). (b)-(111). (g)-(11). (d)-(2)
(4) (a)-(v), (b)-(1), (e)-(11). (d)-(111)

Options:

61547534249, 1

61547534250 2

61547534251, 3
61547524252, 4

Question Number : 39 Question Id : 6154758786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following national co-ordinators of SWAYAM (List I) with thewr distinguishing
programmes (List IT)

ListI Last IT
(a) NPTEL (1)  School education
(b)y CEC (1) Engineering programme
(c) NCERT and NIOS (m) Teacher training programme
(d) NITTR (1v) Under-graduate education

Choose the correct option from those given below :

(1) (a)-(m1). (b)-(11). (c)-(av), (d)-(1)
(2) (a)-(1). (b)-(iv). (c)-(1). (d)-(111)
(3)  (a)-(). (b)-(iii). (c)-(i). (d)-(iv)
(4 (a)-(v), (b)-(1). (e)-(111). (d)-(11)

Options:

61547534253 1
61547534254 2
61547534255 2
61547534256 4

Question Number : 39 Question Id : 6154758786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T % et T FaEw (e 1) 1 e S (g 1) | gt i

T - 1 = - 10
(@ TwAHAZ A G T
(b) T EH (i) AT FEE
(€) T HIE WE F s T AE A (iii) fore TfeE SR
(d) T F A R (iv) TH T e

fAefeafiga 0 9 o7 faweg =1 999 =1

(1) (a)-(111). (b)-(1). (¢)-(v). (d)-()
(2) (a)-(1). (b)-(iv). (¢)-(1), (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) (a)-(v). (b)-(1), (¢)-(111). (d)-(11)



Options:

61547534253, 1
61547534254 2
E1547524255 =2
615475234256, 4

Question Number : 40 Question Id : 6154758787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that contains only computer input devices

(1) Kevboard. Mouse. Joystick, Printer
(2) Mouse, Monitor, Joystick, Keyboard
(3) Joystick. Keyboard. Digitiser, Monitor
(4) Joystick, Kevboard. Mouse, Digitiser

Options:

61547534257, 1
61547534258 2
61547534259 =2
E15475242E60. 4

Question Number : 40 Question Id : 6154758787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fffas 7 5 39 fa%eg =1 =97 =+ {50 Faa o= gfaaat (3792 fsasgs) mie &

e

(1) HEE, oEy, aEes, e
(2) 139, HiHEL, TEaE=F, 0
(3) wEmEes, fmre, fefem, gt

(4)  amEfees, HEre, e, fshwnsn

Options:

61547554257, 1
61547534258, 2
61547534259 2
61547534260 4

Question Number : 41 Question Id : 6154758788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the two following 1s the correct sequence of greenhouse gases according to their

relative global warming potential in increasing order?

(1) Nitrous oxide, Methane. Carbon dioxade. Chlorofluorocarbons

(2) Carbon dioxide, Methane, Nitrous oxide, Chlorofluorocarbons

(3) Methane. Nitrous oxide. Carbon dioxide, Chlorofluorocarbons

(4) Carbon dioxide. Nitrous oxide, Methane, Chlorofluorocarbons
Options:

E1547534261. 1
61547534262, 2
61547534263, 3
61547524264, 4

Question Number : 41 Question Id : 6154758788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frfefias 9 @ vemee arfdn i g9 F SEEE wRawE (FF 2eE) ° gt = w5 gigee 39 d

(1)  =zE s, WeF, FEsEaIieaEs, T e

(2) FrEASEATFES, T9E, E2A ATFETS, FARF A

(3) YR, AT ATHETS, FEASEAAAEES, FARTTRFEA

(4)  FEASEATFAES, A52E SATFETS, WA, FAREEA
Options:
6154753472611
E1547534262. 2
C1547534263 2
615475347264 4

Question Number : 42 Question Id : 6154758789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : A researcher can draw a definitive conclusion even if there 1s a lhittle
evidence to support it.

Reasons (R) : Statistical test of significances helps a researcher in drawing logically

correct inferences from the data.

In the light of the above statements choose the correct option :

(1)
(2)
(3)

(4)

Options:

Both (A) and (R) are correct. and (R) 1= the correct explanation of (A)
Both (A) and (R) are correct. and (R) 18 not correct explanation of (A)
(A) 18 true. but (R) 1= false

(A) 1s false. but (R) 1s true

61547534265, 1
61547524266, 2
E1547534267. 3
E1547534268. 4

Question Number : 42 Question Id : 6154758789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A) 3 (R) 21 =7 = #i7 (R) (A) i T = & |
(2)  (A) AT (R) I TFE 7 AT (R) (A) F1 W21 =9meT 765 ¢ |
(3) (AT ®)ToE R

(4 (A)7Tem 2 g (R) 74 2 |
Options:
61547534265,
61547534266,
61547534267,
E1547524268,

[ N

Question Number : 43 Question Id : 6154758790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  No social activity 1s possible without communication.

Reasons (R) : Communiecation plays vital role in our daily life.

In the light of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1= false. but (R) 1= true

Options:



E154753426%9. 1
61547534270, 2
61547534271, 3
E1547534272. 4

Question Number : 43 Question Id : 6154758790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 71 e fom w2 ween stfaeeE (A) 3R ZE0 9 FeA (R)F EUH F

ATF (A) : TS U7 % IS AEITSE Ty 29T w5 A |
% F (R) : TN FAW 2 SE § AEeage g e 2

I 21 FUAT F SAH § TEd 5 Tal AT = =991 =W

(1)  (A) 3 R) 6 @@ 2 3T (R) (A) Fi 7@ =0T 2
(@)  (A) R R) =T TE E g ®R) A) FTE = T A
(3) (A @Az g R) oW 2|

(4) (A) T 7 Thg (R) T=1 2 |
Options:
61547534769 1
61547534270 2
61547534271 3
51547534272, 4

Question Number : 44 Question Id : 6154758791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1z labelled as

Reason (R) :

Assertion (A):  Motivational aspects of learning and communication efficacy are not inter-
related.

Reasons (R) : Communication as a social product has its own wvariables in a learning
environment.

In the hight of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

E1547534272 1

1547534274 2

E15475234275 2

15475234276 4

Question Number : 44 Question Id : 6154758791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 21 e T2 T amen SAtaweE (A) HT TE0 7w (R)F ET H 7

HATHT (A) AT ST HI AEAT % AT TRe] T H6g T |
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Trl o7 =99 A

(1)  (A) =T (R) A1 94 2 3 (R) (A) Fi T =amea 2|
(2) (A) 3T (R) =F1 =8 2 T, (R) (A) #F1 =781 = 76 71
(3) (AT E, fFg (R) T4 7

(4 (A T=d 2, BRg (R)T# 7 |

Options:
61547534273 1
61547534274 2



E1547534275. 3
B1547534276. 4

Question Number : 45 Question Id : 6154758792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Forests help in improving the air quahity of a place.

Reasons (R) : Some tree species emit volatile organic compounds (VOCs) such as

1soprene which may contribute to formation of tropospheric ozone.

In the light of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
15475342771
C1547534278 2
61547534279 3
51547534280 4

Question Number : 45 Question Id : 6154758792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4 (A Tz, Fg R) T E
Options:
61547534277 1
61547534275 2

61547524279, 3
E1547534280. 4

Sub-Section Number: 3
Sub-Section Id: 615475384
Question Shuffling Allowed : Yes

Question Id : 6154758793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension

Read the following passage and answer questions numbered 46 to 50 :

All art 1s a blend of form and content; and 1t 1s through certain excellences characterising
either, that the artist succeeds 1n inducing 1n us the artistic attitude. In the case of poetry.
for example, the content 1s constituted by the figurative ideas. and sentlments 1t expresses :
and the form. by the musical language through which they find expression. Of these, the
form wvaries much from one art to another: and it 1s also technical. We shall not refer to 1t
here at any length. and shall confine our attention mainly to the content. We shall only
observe, 1n passing, that the legitimate function of form 1s to subserve the content; and if it
assumes greater importance, the work in which 1t does so marks a lapse from the best type of
art. The content of art may be defined generally as the meaming which it expresses. The
excellences that may characterize it are many. and they have been classified in various ways.

Sub questions



Question Number : 46 Question Id : 6154758794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What constitutes the content of poetry according to the passage?

(a) Figurative ideas
(b) Musical language

(c) Sentiments 1t expresses

Choose the correct code from below :

(1) Only (a) and (b) (2)  Only (a) and (c)
(3) Only (b) and (c) (4) Only (b)
Options:

E1547534281. 1
B1547534282. 2
61547534283, 3
61547534254, 4

Question Number : 47 Question Id : 6154758795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s correct with respect to the form of poetry as per the passage?

(a) Form doesn't vary from one art to another
(b) Form 1s technical

(c) Form 1s figurative

(d) Form constitutes musical langauge

Choose the correct option from below :

(1) Only (a) and (b)
(2) Only (b) and (d)
(3) Only (b). (c) and (d)
(4) Only (a). (c) and (d)

Options:

61547534285, 1
E1547524286 2
61547524287, 5
61547534288, 4

Question Number : 48 Question Id : 6154758796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s legitimate function of form?

(1) To obverse the content (2) To reject the content
(3) To subszerve the content (4) To subsume the content
Options:

61547524259 1
61547524230, 2
E1547534231. 3
E15475342392. 4

Question Number : 49 Question Id : 6154758797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Content of the art 1s defined in the passage as

(1) the form 1t exhibits (2) the language it uses
(3) the meaning it subsumes (4) the meaning it expresses
Options:

51547534253 1
61547534234, 2
61547524235, 3
E15475342396. 4

Question Number : 50 Question Id : 6154758798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What kind of art 1s the best type as per the passage?

(a) The one which lends greater importance to content
(b) The one which lends greater importance to form
(c) The one 1in which form subserves the content

(d) The one 1n which content subserves the form
Options:

615475242397, 1
E15475342398. 2
B154753429%9. 3
61547534200, 4

Question Id : 6154758793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154758794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UftemE 7 SHET HEal i G 9w |§ 9o wieied 27

(a)  ATAFIS =R

(b)  Tfa=g

(c) ATq=T7 HI=AE

fafataa 4 @ o8 fawes =1 -

(1) = (a) #HE (b) (2) a9 (a) 7 (c)
(3) A (b) AT (c) (4) = (b)
Options:

E1547534281. 1
E1547534282. 2
B1547534283. 3
61547534284, 4

Question Number : 47 Question Id : 6154758795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ufi=eis & AN HAal % =T & a7 B Fefeigd 7 9 F:H g6 8¢
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(b)  THE =EY THAT 7
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(d)  T=ET Tiiggg arer i T=E AT A

frAfetEs 7 o 78 faweT =1

(1) 99 (a) 57 (b) (2) == (b) H (d)

(3)  =Faa (). (¢) # N (d) (4) FF4 (a), (c) 37 (d)
Options:

61547524285, 1
E1547534286. 2
B1547534287. 3
61547534288, 4

Question Number : 48 Question Id : 6154758796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) fam-== fa=a (2) Tamg-=g F1 sHEFA
(3) favE-Tg d #eEE = (4) TavE-Tg = TEMEG = o
Options:

E1547534289. 1
E1547534230. 2
B15475342391. 3
61547534252, 4

Question Number : 49 Question Id : 6154758797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FeAl 1 T —a5d & THeas °§ 0 THR gR9Ha & = & 7

(1) =55 g0 U ==Y % a1 W (2) =IF U VEEE 991 F AN W
(3)  =HH TEMEG AY &+ 90 W (4) =E% TAT ATH=TF ATIIE 77 W
Options:

61547524292 1
E1547534254. 2
E1547534235. 3
61547534236, 4



Question Number : 50 Question Id : 6154758798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i - = o o~ ~ TR
Ti=Zs & AR T5FE T 1 Hicl TH THREAl FH 35600 5 7

(1) =7 To9d fam q-atd 1 SAST Hacd {1 ST 7

(2) 7= 99 § ==y =1 == 959 fear = 2

(3) @ Tom o waww, fawg-awg & fom e 7 2

(4) == T5m 9 Fvg-asg = % o gees = R
Options:
61547534297 1
61547524208 2
61547524299, 3
61547524200, 4

PART II Sociology

Section Id : 615475118

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 615475385
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154758799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Kula” exchange 1s associated with which tribe?

(1) Krowe tribes (2) Azande tribes
(3) Tikopians (4) Trobriand Islanders
Options:

E1547534201. 1
61547534202 2
61547534203, 3
615475234304, 4



Question Number : 51 Question Id : 6154758799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) @ S (2) TN ST
(3)  fewigTm (4) TIETTE EroaTE
Options:

E1547534201. 1
E1547534202. 2
51547534203, 3
51547534204, 4

Question Number : 52 Question Id : 6154758800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ability of workers to use muscles and brain to transform their environment is called

(1) labour union (2) labour power
(3) labour unrest (4) labour movement
Options:

E1547534205. 1
E1547534206. 2
61547534207, 3
61547534208, 4

Question Number : 52 Question Id : 6154758800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT YA F TEA F 70 FHEART G ARICE F "EEE HaT 1 T FAT1 9491 FEerdl g ¢

(1) gfas =79 (2) 4t o
(3) qfEF AT (4) #FF AR
Options:

615475243051
61547524308, 2
E1547534207. 3
E1547534208. 4

Question Number : 53 Question Id : 6154758801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who saw much in common between theoretical performance and the kind of ‘acts™

(1) Erving Goffman (2) Harold Garfinkel
(3) Alfred Schultz (4) G.H. Mead
Options:

61547524309, 1
E1547534210. 2
E1547534211. 3
61547534212, 4

Question Number : 53 Question Id : 6154758801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TgTi=aes FomeT @ et & TR % mem TR At s w2

(1) 3T ToEas (2) FeS TRHHS
(3) ATHS T[T (4) it.uH. Hi
Options:
61547534509 1
61547534510 2
61547534211 2
515475343212 4

Question Number : 54 Question Id : 6154758802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The rationality that leads an actor to transcend daily realities to understand the world as a
meaningful cosmos 1s :

(1) Theoretical rationality (2) Formal rationality
(3) Substantive rationality (4) Practical rationality
Options:

615475342131
61547534314, 2
61547524315 3
E1547534216. 4

Question Number : 54 Question Id : 6154758802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Sgifeas arfhera (2) SATETE drfeheal
(3) Y ATRRAT (4) TAIARIGR TRl
Options:

515475342121
61547534214, 2
61547534215 3
E1547534216. 4

Question Number : 55 Question Id : 6154758803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s the author of the book ‘The Religion of Java™

(1) Erving Goffman (2) Manuel Castells
(3) Chifford Geertz (4) Claude Levi-Strauss
Options:

BE1547534217. 1
61547534218, 2
61547534219 3
61547534320, 4

Question Number : 55 Question Id : 6154758803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

'z ifeTs o1T% Sar I&aeh o S@ i g7

(1) e Trsas (2) Bg FEew
(3) FFeT®S TS (4) TS AA-TH
Options:

61547524317, 1
E1547534218. 2
E1547534219. 3
615475342320, 4

Question Number : 56 Question Id : 6154758804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who among the following is considered as practitioner of “Theoretical Pluralism™

(1) AR. Desail (2) G.S. Ghurye
(3) M.N. Srinivas (4) R.K. Mukerjee
Options:

615475243211
61547524322 2
E15475345323. 3
E1547534224. 4

Question Number : 56 Question Id : 6154758804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) UMW 35w (2) A T
(3)  UR.TA. #HiHarE (4) SRF. @
Options:

61547534221, 1
61547534322 2
61547534323 3
61547524324 4

Question Number : 57 Question Id : 6154758805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who talks about structuration as the structuring of social relations across time and space?

(1) Erving Goffman (2) Harold Garfinkel
(3) Manuel Castelle (4) Anthony Giddens
Options:

5154753423251
61547534326, 2
E1547534327. 3
615475243258, 4

Question Number : 57 Question Id : 6154758805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  zfdw s (2) e TRRER
(3)  EIHS FHH (4) Uy frEm
Options:

615475343251
61547534326, 2
E1547534327. 3
E15475342328. 4

Question Number : 58 Question Id : 6154758806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From among the following sociologists who has written on the ‘Kinship Systems’ in different
regions of India?

(1) P.H. Prabhu (2) Irawati Karve
(3) G.S. Ghurye (4) K.M. Kapadia
Options:

B1547534229. 1
61547534220, 2
61547534221, 3
61547524332 4

Question Number : 58 Question Id : 6154758806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  dHigE. Uy (2) TEE FE
(3)  .um. ™ (4) .9, TN
Options:

6154753422591
61547534330, 2
615475243351, 3
E15475342332. 4

Question Number : 59 Question Id : 6154758807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who had given the name ‘Harijan’ to the “Untouchables™

(1) B.R. Ambedkar (2) M.K. Gandh1
(3) J. L. Nehru (4) Madan Mohan Malviya
Options:

61547524352 1
E1547534224. 2
E1547534235. 3
615475342336, 4

Question Number : 59 Question Id : 6154758807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T sl w1 B o A fE and

(1) o137, STrasat (2) THF. T
(3) S.UH. 98 (4) A& HIET Heed
Options:

E15475342323. 1
E1547534234. 2
51547534235 3
61547534236, 4

Question Number : 60 Question Id : 6154758808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who said that globalization 1s the growing reciprocal interdependence and integration of
various economies around the globe?

(1) A. Giddens (2) Meghnad Desai
(3) Henderson Hazel (4) Martin Knor
Options:

E1547534237. 1
61547534238, 2
61547534235, 3
61547534240, 4

Question Number : 60 Question Id : 6154758808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) u frge= (2) HEFTE TS
(3) T TN (4) T AR
Options:

B1547534237. 1
61547534228, 2
61547534339, 3
61547524340, 4

Question Number : 61 Question Id : 6154758809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has conceptualized social structure as a complex of principal groups and institutions
which constitute societies?

(1) A R. Radcliffe — Brown (2) S.F. Nadel
(3) M. Ginsberg (4) R. Firth
Options:

E1547534241. 1
E1547534242 2
61547534243, 3
615475342344, 4

Question Number : 61 Question Id : 6154758809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) U3, T[T - F (2) UH.TE. 912
(3) s, T (4) ITR. B4
Options:

6154752423411
61547524342 2
E1547534243. 3
E1547534244. 4

Question Number : 62 Question Id : 6154758810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following holds the view that an ‘Indian Tribe” as converted to Indian caste
when it loses a territorial meaning and social significance?

(1) Max Weber (2) D.N. Majumdar
(3) T.N. Madan (4) J. Hutton
Options:

515475342451
615475342346, 2
61547534347, 3
E1547534248. 4

Question Number : 62 Question Id : 6154758810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafEa & & %9 33 fa=m =1 oEes #a 2 & ywrdia Sefaen’’ e sfae | gitatad g 2 o
3 YHTTE Tga= o HTETSF Tgeal o @ od 8 7

(1) T g (2) TLUA. AYEER
(3)  AuA. T (4) . T
O_ption:s:_

E15475342345. 1
E15475342346. 2
B1547534247. 3
515475342458, 4

Question Number : 63 Question Id : 6154758811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following viewed status as an ‘effective claim to social esteem’™

(1) R. Linton (2) H. Maine
(3) M. Weber (4) R.K. Merton
Options:

6154753423491
61547534350, 2
E1547534351. 3
E1547534352. 4

Question Number : 63 Question Id : 6154758811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) . e (2) THE. T
(3) TH. g (4) .. 7
Options:

E154753423459. 1
615475342350, 2
61547534251, 3
61547534352 4

Question Number : 64 Question Id : 6154758812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s least inequitable metropolitan city of India?

(1) Meerut (2) Mumbai
(3) Howrah (4) Bengaluru
Options:

E15475342353. 1
515475342354, 2
61547534355 3
61547534356, 4

Question Number : 64 Question Id : 6154758812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MEARgd B & % T =JFa9 e SETT I 2 7

]

(1) ¥ (2) TETE

ot

(3)  E@S (4) TR

Options:

61547534353 1
£1547534354 2
61547524255, 5
61547534356 4

Question Number : 65 Question Id : 6154758813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is least inequitable metropolitan city of India?

(1) Meerut (2) Mumbai
(3) Howrah (4) Bengaluru
Options:

61547534357, 1
61547534358, 2
61547534359, 3
E1547534360. 4

Question Number : 65 Question Id : 6154758813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2011 (2) 1961
(3) 19891 (4) 2001
Options:

61547534357, 1
61547534358, 2
E1547534359. 3
E15475342360. 4

Question Number : 66 Question Id : 6154758814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many metropolises were there in India according to Census 2001?

(1) 53 2) 35
(3) 55 (4) 17

Options:

61547534361,
61547534362,
£1547534363.
£1547534364,

[ N

Question Number : 66 Question Id : 6154758814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2001 T SFTIHT F FHE 9EG # Tohas FgAm 97
(1) 53 (2) 35
(3) 55 4 1%

Options:

61547534361, 1
61547534362 2
61547534363 2
E1547524264 4

Question Number : 67 Question Id : 6154758815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bhil and Meena tribes are largely living 1n the state of —

(1) sujarat (2) Maharastra
(3) Rajasthan (4) Jharkhand
Options:

51547534265, 1
61547534366, 2
61547534367, 3
E1547534568. 4

Question Number : 67 Question Id : 6154758815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
_ Ry & . ~ S o
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&) I (2) e
(3)  TSEYIH (4) FR@E
Options:

E15475345365. 1
B15475342366. 2
615475342367, 3
61547534368, 4

Question Number : 68 Question Id : 6154758816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following has said that caste system has organic links with the tribal culture
in India?

(1) G.S. Ghurye (2) Verrier Elwin
(3) W.V. Gingson (4) T.B. Naik

Options:

61547534369,
61547534370,
61547534371,
E1547534372,

[ N

Question Number : 68 Question Id : 6154758816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1  Stom g 2) afew ofeem
(3) z5eg o1, Tormm (4) FH. aEw
Options:

E1547534236%9. 1
61547534270 2
61547534271, 3
61547534372 4

Question Number : 69 Question Id : 6154758817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has criticized the emerging political culture of corruption and criminality in his/her
work on Indian Politics?

(1) D.N. Dhanagare (2) Zoya Hasan
(3) Rajni Kothari (4) Anand Kumar
Options:

615475243731
61547524374, 2
E15475342375. 3
E15475342376. 4

Question Number : 69 Question Id : 6154758817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) LT =ETR (2) e TEE
(3) TSI FIeE (4) *AHE TR
Options:

6154753423731
615475342374 2
61547534375 3
61547524376, 4

Question Number : 70 Question Id : 6154758818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Where was the largest and longest protest in 1980's organized by Bhartiva Kisan Union
under the leadership of Mahendra Singh Tikait?

(1) Hyderabad (2) Bengaluru
(3) Delh1 (4) Meerut
Options:

E15475342377. 1
615475342378, 2
B15475342375. 3
61547534280, 4

Question Number : 70 Question Id : 6154758818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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ST o T en?

2

(1) tomwe (2) =T
(3)  faoeh (4) =
Options:

61547524377, 1
E15475342375. 2
E1547534273. 3
61547534280, 4

Question Number : 71 Question Id : 6154758819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who has written the book ‘Social background of Indian Nationalism’

(1) T.K. Oommen (2) R.S. Misra
(3) A R. Desai (4) D.N. Dhanagare
Options:

51547534281, 1
61547534382, 2
61547534383, 3
E15475345384. 4

Question Number : 71 Question Id : 6154758819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3% T (2) sm.uE. e
(3)  U.IW. HT: (4) T, AR

Options:

61547534381, 1
61547534382 2
15475343282 =2
E1547524284 4

Question Number : 72 Question Id : 6154758820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What term 1s used to describe a system of ceremonial exchange by certain groups of tribes in
Trobriand Islands?

(1) Kula Ring (2) Potlatch
(3) Connubium (4) Jajmani
Options:

51547534285, 1
615475342386, 2
61547534387, 3
61547524388, 4

Question Number : 72 Question Id : 6154758820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =en fo (2) e
(3)  F=qreEA (4) ST
Options:

615475234385 1
61547524386, 2
E1547534387. 3
E1547534288. 4

Question Number : 73 Question Id : 6154758821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What term is best suited to describe an ideology based upon a rethinking and a reassertion of
classical liberalism?

(1) Welfarism (2) Neo-functionalism
(3) Neo-liberalism (4) Neo-marxism
Options:

61547524359, 1
E15475342380. 2
E15475342391. 3
615475342352, 4

Question Number : 73 Question Id : 6154758821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) EaZ LG (2) TA-UhRMEAR
(3) TI-3{TER (4) TI-HEFEAE
Options:

E15475342389. 1
6154753423390, 2
61547534251, 3
615475343392 4

Question Number : 74 Question Id : 6154758822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The process of buying and selling produce by electronic means 1s known as

(1) e-pathshala (2) e-governance
(3) e-commerce (4) e-tourism
Options:

5154753423593 1
6154753423394, 2
E1547534335. 3
E15475343596. 4

Question Number : 74 Question Id : 6154758822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) R I I [l (2) E-3TraImER
(3) 1 (4) T-TFeA

Options:

61547534393, 1
£1547534394 2
£15475243295 =2
615475234296, 4

Question Number : 75 Question Id : 6154758823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The process by which technology lowers the cost of storing, sharing and analyzing data is
known as :

(1) Mechanization (2) Digitalization
(3) Commercialization (4) Globalization
Options:

B15475342397. 1
615475342598, 2
61547534399 3
61547524400, 4

Question Number : 75 Question Id : 6154758823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =i 2) Tl
(3)  aTorsEET (4) Sy
Options:

51547534257, 1
615475343398, 2
61547524399, 3
E1547534400. 4

Question Number : 76 Question Id : 6154758824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not objective of Green Peace Movement?

(1) Protection of Oceans (2) Elimination of toxic waste
(3) Eradication of poverty (4) Safe and Sustainable trade
Options:

E1547534401. 1
E1547534402. 2
61547534403, 3
61547534404, 4

Question Number : 76 Question Id : 6154758824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frerfeafga 9 | =19 &1 &g wfq sged (Green Peace Movement) =1 3879 781 2 7

(1) =51 &t = (2) TR STl R HeREE
(3)  THIE I (4) FiEa i Taq =R

Options:

61547534401, 1
61547534402 2
£1547524403 =2
615475234404, 4

Question Number : 77 Question Id : 6154758825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which vear Government of India promulgated the National Rehabilitation policy for

project displaced persons?

(1) 2002 (2) 2004

(3) 2006 (4) 2001
Options:
61547534405,
615475344086,

61547534407,
E1547534408.

o P

Question Number : 77 Question Id : 6154758825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2002 (2) 2004
(3) 2006 (4) 2001
Options:

E1547534405. 1
E1547534406. 2
61547534407, 3
61547534408, 4

Question Number : 78 Question Id : 6154758826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following 1s the most common form of domestic violence in the world?

(1) Wife battering (2) Child Abuse
(3) Elderly Abuse (4) Sibling violence
Options:

61547524409, 1
E1547534410. 2
E1547534411. 3
B154753441%. 4

Question Number : 78 Question Id : 6154758826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Tt ST e (2) o THTER
(3) 9% gHaER (4) g fE=
Options:

E154753440%8. 1
E1547534410. 2
51547534411, 3
61547534417 4

Question Number : 79 Question Id : 6154758827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following family law 1n India was enacted in 19567

(1) Adoption and Maintenance Act
(2) Dowry Prohibition Act

(3) Hindu Marriage Act

(4) Special Marriage Act

Options:

61547534413, 1
61547534414 2
61547534415 =
61547534416 4

Question Number : 79 Question Id : 6154758827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fffEa ¥ 9 9 § FI9 91 WiEn FF 1956 § Atafarag fwa wr ar?
(1) SAfTEe q9n STTLET SArETE (Adoption and Maintenance Act)
(2) zes Uy srfufaas (Dowry Prohibition Act)

(3) o= foams st
(4)  foom foame sifufrem

Options:
615475344131



E1547534414. 2
61547534415 3
61547534416, 4

Question Number : 80 Question Id : 6154758828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

By which year the number of older persons is expected to be more than children aged less
than 10 years?

(1) 2030 (2) 2040
(3) 2050 (4) 2060
Options:

61547524417, 1
61547524418, 2
E1547534413. 3
E1547534420. 4

Question Number : 80 Question Id : 6154758828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 2030 (2) 2040
(3) 2050 (4) 2060
Options:

615475344171
615475344158, 2
61547534419 3
61547524420, 4

Question Number : 81 Question Id : 6154758829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following tribes 1s patrilineal?

(1) (Garo (2) Maliku
(3) Khasi (4) Toda
Options:

E1547534421. 1
B1547534422 2
61547534423 3
61547534424, 4



Question Number : 81 Question Id : 6154758829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tferfaa sefaat 5 3 2 =t St frgasi= 27
(1) T (2) HieTFg

i

(3) @™l (4) z=

Options:

61547534421, 1
61547534422 2
61547534423 =
61547534424 4

Question Number : 82 Question Id : 6154758830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who 1s the author of the book, ‘The Virtual Community’?

(1) Melvin Webber (2) Howard Rheingold
(3) Barry Wellman (4) Benedict Anderson
Options:

61547534425 1
E1547534426. 2
E1547534427. 3
E1547534425. 4

Question Number : 82 Question Id : 6154758830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524425 1
E1547534426. 2



E1547534427. 3
61547534425, 4

Question Number : 83 Question Id : 6154758831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following considered ‘time’ and ‘space’ as ‘a priori’?

(1) Plato (2) Anristotle
(3) St. Augustine (4) Immanual Kant
Options:

615475244291
E1547534430. 2
E1547534421. 3
61547534432, 4

Question Number : 83 Question Id : 6154758831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefafaa 4 @ foFem ‘999’ 3 ‘wum’ =+ faem 3 9@ (T-mmzerl) % 9 H 5ET 27

o Y.

(1) =N (2) 31Eg

2

(3) . AT (4) THAS FL

Options:

61547534429, 1
61547534430 2
E1547524421 =2
61547524422, 4

Question Number : 84 Question Id : 6154758832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following have conceptualized media as a ‘Cultural Industry’?

(1) Functionalists (2) Political — Economists

(3) Neo — Marxists (4) Post Modernists

Options:



E1547534433. 1
61547534424, 2
61547534435 3
61547534436, 4

Question Number : 84 Question Id : 6154758832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[ ol ~ N ~ : . o O e = 3
feriaa | Toree Hifean &1 HohedaT U HIEhfdes SamT & &9 H 1 g7

(1)  TFEEmE! (2)  TTSTATToo — ST
(3)  TA-TEEEE (4) I MR
Options:

E1547534423. 1
E1547534434. 2
51547534435 3
61547534436, 4

Question Number : 85 Question Id : 6154758833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one 1s the common element in the most conceptions of the piety?

(1) Prideness (2) Wisdom
(3) Humility (4) Superstiousness
Options:

61547524437, 1
E15475344235. 2
E1547534439. 3
61547534440, 4

Question Number : 85 Question Id : 6154758833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oH et 1 STTSRTIT FeheT TSt § I |7 dcd J9H 2 ¢

(1) e (2) = (fag)

[

(3) EEEhI| (4) 4T



Options:

61547534437, 1
£1547534438 2
£1547524439 =2
61547524440, 4

Question Number : 86 Question Id : 6154758834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Any signifier which signifies a concept or meaning — the signified, 1s called

(1) Object (2) Image
(3) Sign (4) Symbol
Options:

51547534441 1
B154753444%2 2
61547534442 3
61547534444 4

Question Number : 86 Question Id : 6154758834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o ®IE Hehasw (Signifier) FFEl Thew1 s1gar 1Y w1 HEed AWl €, O 98 Hhiad (Signified) T

FEATA 8 7

(1) F&] (Object) (2) foresr (Image)

(3) TFd (Sign) (4) T (Symbol)
Options:

615475344411
61547534442 =
61547524442 3
E1547534444. 4

Question Number : 87 Question Id : 6154758835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

While dicussing religion who has paid attention to development of moral ideas?

(1) R.H. Lowie (2) A.R. Radcliffe — Brown
(3) L.T. Hobhouse (4) Max Weber
Options:

E1547534445. 1



E154753444E. 2
B1547534447. 3
51547534445, 4

Question Number : 87 Question Id : 6154758835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(o

9H T =1 A FU TR ATOe [ o Hadd WA T 2 v

(1) .U, S (2) TU.3R. TEfFaw-sTed
(3) fer i MR L Ed e (4) FFE FE
Options:

61547524445 1
E154753444E. 2
E1547534447. 3
51547534445, 4

Question Number : 88 Question Id : 6154758836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Durkheim, the unit of significance in ritual 1s:

(1) Role (2) Action
(3) Feeling (4) Motive
Options:

515475344459 1
61547534450, 2
61547524451, 3
61547524452, 4

Question Number : 88 Question Id : 6154758836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

w * AR Biitea IS (ritual) | WTJT THE B

(1)  qfF=F (Role) (2) TET (Action)
(3) gaz (Feeling) (4) TESE (Motive)

Options:



E15475344459. 1
61547534450, 2
51547534451, 3
61547534452, 4

Question Number : 89 Question Id : 6154758837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The symbol deals with

(1) Transmission of a message
(2) Deviation of a message
(3) Restriction of a message
(4) Dilution of a message

Options:

61547524452 1
E1547534454. 2
51547534455 3
51547534456, 4

Question Number : 89 Question Id : 6154758837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TaTeR (Symbol) oFas Jafaa 27

(1) foret =g (message) % U997 H
2 o E % e A

3) ol wem o faemor 5

(4) Tt =20 3 smfeer (dilution) &

Options:

61547534453, 1
61547534454 2
61547534455 =2
61547534456 4



Question Number : 90 Question Id : 6154758838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who views education as the action exercised by the older generations upon those who are not
yet ready for social life?

(1) Emaile Durkheim (2) T.B. Bottomore
(3) R.H. Lowie (4) Lord William Bentinck
Options:

E1547534457. 1
E1547534458. 2
51547534459, 3
61547534480, 4

Question Number : 90 Question Id : 6154758838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e Torem =61 S |reTer e o fo7U d9m 98 # 39 Wil W W WEl kAR % UMTeS F w9 H
Ta g’

1) i s @ A o
(3) AT, A (4) e fafo=m sfew
Options:

61547534457, 1
61547534458, 2
61547524459 3
E15475344E60. 4

Question Number : 91 Question Id : 6154758839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two of the following principles explain the Alliance theory?

(a) Principle of reciprocity

(b) Rules of Exogamy

(c) Rules of Endogamy

(d) Incest taboos

Choose the correct option :

(1) (a) and (b) (2) (b) and (c¢)
(3) (c) and (d) (4) (a) and (d)



Options:

61547534461, 1
615475344682 2
E15475244E63 2
61547534464, 4

Question Number : 91 Question Id : 6154758839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T=fataa oo 8 9 F9-9 21 [9gra 959y fagma & =me 57d 2 7

(a) TREIfRAT (reciprocity) 1 g (b) wfefdamE = =\

(c) srafaars #1 g (d) RIR =9ER o
(1) (a) T (b) (2) (b)3(c)

(3) (c) 3 (d) (4) (a)d(d)

Options:

61547534461, 1
61547534462 2
615475344632 =2
E1547524464 4

Question Number : 92 Question Id : 6154758840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The stages 1n the development of property according to Marx can broadly be classified as

(1) Classless society, primitive communism, class differentiation and inequality

(2) Class differentiation and Inequality, classless society, primitive communism

(3) Primitive communism, classless society, class differentiation and inequality

(4) Primitive communism, class differentiation and inequality, classless society
Options:

E15475344E5. 1
E1547534466. 2
B15475344E67. 3
61547534465, 4

Question Number : 92 Question Id : 6154758840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

=

HIFH & AR FU & GHE 6 =0 F AR AR T SEG (HA1 S FHAl
(1)  oATEEN JH1s, SA1eq 9radare, o7 faHeor g SEEEaT
(2)  SAOHERY 9 STEAE, 91 [O8F T3, SAMeH 9T=anR
(3) ST ATeIaTE, SO TATS, 99 TO9aEeRoT § SToaar
(4) A ATIaTs, 9 TOHEoT J STEHEAl, TOeed J9T

Options:

61547534465, 1
61547534466 2
61547534467, o
61547534468 4

Question Number : 93 Question Id : 6154758841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the two main factors that can help in bridging the digital divide?

(a) Higher education and employment
(b) Ownership of property and wealth
(c) Access to Computer and Internet

(d) Computer literacy and information

Choose the correct option :
(1) (c) and (d)
(2) (a) and (b)
(3) (b) and (c)

(4) (a) and (d)

Options:
61547534469, 1



E1547534470. 2
61547534471, 3
61547534472 4

Question Number : 93 Question Id : 6154758841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FF H 3 §EF TEF ¢ A1 AhE G A F I H HErFal F T ¢ 7

(a) = 9181 & TS

(b)  FUM g UlEI F F=HE

(c) TR (*—h“"{\d‘x) El SFd.{::Id. da< 'Ilg'r]

(d) O (FEEE) HIEEAT F HEA

(1) ()3 (d)
(2) (a) @ (b)
3)  Md3I(

4) (@3

Options:

61547534469, 1
615475324470 2
61547534471, 5
61547534472 4

Question Number : 94 Question Id : 6154758842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are examples of material culture?

(a) Aspects of culture which govern the production and use of artefacts
(b) Material production actually produced by society

(c) Tools of governance in a community

(d) Interaction of children with parents

Choose the correct option :
(1) (b) and (c)
(2) (c) and (d)
(3)  (d)and (a)

(4)  (2) and (b)

Options:

61547534473 1
61547534474 2
61547534475 2
61547524476, 4

Question Number : 94 Question Id : 6154758842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafen # B T B i e F e 27

(a) TR TEE A ICAET F HING FHadl & ITAR H HASE w2

(b)y A= IeUEA ATEda § FHTS G0 3G TR S 2

~ -

(c) R TEETE W TSR & AT |

(d)  ===1 * HET Uar % =Y "9

(1) (b) 7 (c)
@ (@3
(3) (d) = (a)

(4) (a) 7 (b)

Options:

61547534473 1
61547524474 2
61547534475 5
61547534476 4

Question Number : 95 Question Id : 6154758843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The studies of Indian rural society by the sociologists and social anthropologists largely

focussed upon :

(a) Categories of caste and community

(b) The analysis of rural and agrarian social structures

(c) Analysis of planned changes introduced by the state in the rural society
(d) Finding cultural impediments to development of Indian rural society

Choose the correct option :
(1)  (a)and (b)
(2)  (b) and (c)
(3) (¢c) and (d)
(4)  (d)and (a)

Options:
61547534477 1

E1547534478. 2
E15475344739. 3
61547534480, 4

Question Number : 95 Question Id : 6154758843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i

TSR & FEIS S gRI 9RdE TTE9 J90 F 335999 & =+ &0 8 (e m) H=a
:j)al

TR

(a) A 9 FHEE & AR T

(b)  UTH F Gt FHEISF T F fowere @

(c) =T G AT 8IS § ARY fohe U gty afedq & fageme w

(d) WA THIOT HE1S & foehE | Hi«-@!r%l«-h S B GeE W

e e o
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@ B3O
® ©I@

4) (d) 3 (a)
Options:
61547534477, 1
61547534478 2
61547524479, 5
615475234480 4

Question Number : 96 Question Id : 6154758844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The earlier popular studies of Indian rural society were largely based on the interest of

sociologists to —

(a) Understand Indian Village society

(b) Document the structure of traditional Indian village society

(c) Understand the dynamics and change in Indian Village society

(d) Document the contribution of Britishers to the Indian Village society

Choose the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (d) and (a)

Options:

61547534481, 1
61547534482 2
615475344583 o
61547534454 4

Question Number : 96 Question Id : 6154758844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT TR0 AT o I3 H A T A1 T JEd SR THISE S i w5 | et o

(a) WA TTHIOT FHETS 1 FHIAT

(b) TERRTE HATE UTHIOT ST hi AT ol TeEH

() YR AT TS <t Taeiiedr Tg i@ & JHEE]

(d) g ATHOT FETS § SFUS & TREE H TS

(1)  (a) & (b)
2)  (b) F(c)
(3) () ¥R (d)
4)  (d) 3 (a)
Options:
L1547E34451. 1
L1547E=E4482 2

E15475344E83. 3
E1547534454. 4

Question Number : 97 Question Id : 6154758845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are examples of primary sources of data?

(a) Interview
(b) Diaries
(c) Census reports

(d) Observation

Choose the correct option :
(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d) and (a)

Options:



E1547534485.
51547534456,
51547534457,
61547524458,

[ N N

Question Number : 97 Question Id : 6154758845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fr=rfeafad 8 9 w99 sTiwst & mufas g & 328 2 7

(a) HIETTHTT

(c) IO fOTe

TE Tahed =4
(1)  (a) 3 (b)
(3)  (c) F (d)

Options:

61547534485, 1
61547534486 2
E1547524487. 2
61547524488, 4

(b) =

(2) (b) 3 (c)
(4) (d) IR (a)

Question Number : 98 Question Id : 6154758846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following are elements of the ethics of social research?

(a) Ideology
(b) Subjectivity
(c) Anonymity

(d) Confidentiality

Choose the correct option :
(1) (a) and (b)
(3) (c) and (d)

Options:
615475344589, 1

(2) (b) and (c)
(4) (d) and (a)



E1547534430. 2
61547534451, 3
51547534452 4

Question Number : 98 Question Id : 6154758846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TrEad # | &F o "M STHEEH A9 (ethics) & @@ 27
(a)  To=mEEm

(b) TR

(c) AT (Anonymity)

(d) JIEEIRE

(1)  (a) 3 (b) (2) (b) T (c)
(3) ()3 (d) (4) (d) ¥ (a)
Options:

E1547534489. 1
E1547534430. 2
E1547534451. 3
51547534452 4

Question Number : 99 Question Id : 6154758847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Soclology originated largely in a philosophical ambition to

(a) Account for the course of human history

(b) Explain the social crisis of the 19t Century Europe
(c) Explain the origin of Industrialization

(d) Account for the French revolution

Select the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (d) and (a)

Options:

61547534493, 1
61547534494 2
61547534495 =2
61547534496 4

Question Number : 99 Question Id : 6154758847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) HHETE Siaerd ol Td ol ST

(b) 1941 e ajrtr o HHTST Hehe ohi SaEET Al

(c) SR F g FRON T AETH

(d)  ShME i ST o AGTHRA

TE oot T4 ¢

(1)  (a) 3 (b)
(2)  (b) 3 (c)
3) (o) 3R (d)

(4 (d) I (a)

Options:

61547534493,
61547534494,
61547534495,
51547534496,

[ N

Question Number : 100 Question Id : 6154758848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following metropolises have the highest percentage and lowest percentage
of scheduled castes?

(a) Bengaluru

(b) Mumbai

(c) Chennai

(d) Delhi

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (b) (4) (d) and (a)
Options:

E1547534457. 1
61547534458, 2
615475344599 3
61547534500, 4

Question Number : 100 Question Id : 6154758848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TfafEa § 5 69 T8TFR § SATas 991 =Ha8 STgEma STl Sl aawrddT 2 ¢

(a) EUEY

(b) =%

(c) =%

d  Toeel

(1) (a) 3 (b) 2) (b) I (c)
(3)  (c) ¥ (b) (4) (d) R (a)
Options:

E15475344597. 1
51547534458, 2
51547534455 3
61547534500, 4

Question Number : 101 Question Id : 6154758849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following are associated with the theory of “Urbanism as a way of life” and
“Culture of Poverty”?

(a) Oscar Lewis
(b) William Foot Whyte
(c) Louis Wirth
(d) Homer Hyot

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (a) (4) (c) and (d)
Options:

61547524501, 1
61547524502, 2
E1547534503. 3
E1547534504. 4

Question Number : 101 Question Id ;: 6154758849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) AT SAfTH

(b) e $e arse

(c) T o

(d)  FEER

(1) (a3 (b) (2) M®3(e)

3) (@9 4) (©3F()
Options:

615475234501, 1
61547534502, 2
61547524502, 3
E1547534504. 4

Question Number : 102 Question Id : 6154758850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following were the slum populations in India in 2001 and 2011 Census Years?
(a) 40.6 Millions
(b) 42.6 Millions
(c) 68.0 Millions
(d) 72.0 Millions

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (a)and (d)
Options:

515475345051
61547534506, 2
61547524507, 3
E1547534508. 4

Question Number : 102 Question Id : 6154758850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2001 & 2011 = SHIUET G917 H 9YIA o1 HieH Seaa] ol SHEEa] HHTehd § § H-91 8 7
(a)  40.6 fAfeEm

(b)  42.6 fafeEm

(c) 68.0 Taferas

(@  72.0 fferEm

(1) (a) F (b) (2) (M3 (e)

(3) (c) T (d) 4 (@3

Options:

61547534505, 1
61547524508, 2
E1547534507. 3
E1547534508. 4

Question Number : 103 Question Id : 6154758851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two of the following are associated with ‘Right to City’ and “‘Slums’ study?
(a) M.N. Srinivas

(b) H. Lefebvre

(c) R. Neuwirth

(d) I1.P. Desai

Choose the correct option :

1 (a) and (d) (2) (b) and (c)
(3) (¢) and (d) (4) (b)and (d)
Options:

515475234509, 1
61547534510, 2
61547534511, 3
61547524512 4

Question Number : 103 Question Id : 6154758851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fafes 3 5 6 o1 ‘e 3 B 3 ‘wiem afeas’ & s1eg9s % Wy Teg 87

(a)  UA.UH. #ifaH

(b) — TE. WS

(c) . gfad

(d)  omE. HogEE

(1) (a) 3 (d) (2) ()3T (c)

(3) (c) 3 (d) (4) (b)3(d)
Options:

E1547534509. 1
61547534510, 2
61547534511, 3
61547534512 4

Question Number : 104 Question Id : 6154758852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



From among the classical sociologists, who have used comparative method but in different
ways?

(a) Emile Durkheim

(b) Karl Marx

(c) Max Weber

(d) Auguste Comte

Choose the correct option :
(1) (b) and (c)
2) (c) and (d)
(3) (d) and (a)

4) (a) and (c)

Options:

615475345131
61547534514 2
61547534515 2
E1547524516. 4

Question Number : 104 Question Id : 6154758852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) T GETEH
(b) T AEAE
(c) o o

(d) TS FIE

(1) (b) & (c)
(2) (c) a (d)
(3) (d) 3 (a)

(4) (a) 9 (c)

Options:

61547534513, 1
61547534514 2
£1547524515 =2
615475234516, 4
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According to T.B.Bottomore, the historical approach in sociology has taken two principal
forms which are influenced by :

(a) Philosophy of History

(b) Ethnographic descriptions

(c) Systematic empirical research

(d) Biological theory of evolution

Choose the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (d) and (a)

Options:

615475345171
615475245158, 2
61547534519, 5
61547534520 4

Question Number : 105 Question Id ;: 6154758853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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(a)  foem %1 7N

(b) A foEEer

(c) eI STHTEE I
(d) dCJ&%IH =1 Sifaes g

(1) (a) 7 (b)

2 (b3 (e)

(3) (c) 3 (d)

(4) (d) 3 (a)

Options:

615475345171
61547534518, 2
61547534519 =
61547534520 4
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Tamilian’s movement in Srilanka 1s an example of :

(a) An Ethnic movement

(b) A Regional movement

(c) A Religious movement

(d) A social reform movement

Choose the correct option :
(1)  (a) and (b)
(2)  (b) and (c)
(3)  (c) and (d)

4)  (d) and (a)

Options:

&1547554521. 1
61547534522 2
61547534523 2
61547534524 4
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(a) AT ST

(b) &g aTere™

(c) IS STTaTe

(d)  TES YR AGEeH

TH faren =

(1)  (a) 3R (b)
(2)  (b) 3 (c)
(3)  (c) 3 (d)

(4)  (d) 3 (a)

Options:

61547534521, 1
61547534522 2
61547534523 2
61547534524 4
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The question “‘Why 1s 1t’ about a social phenomenon 1s the key to which type of research
design?

(a) Exploratory

(b)  Descriptive

(c) Explanatory

(d) Experimental

Choose the correct option :
(1) (a) and (b)
(2)  (b) and (c)
(3) (c) and (d)

(4) (d) and (a)

Options:

61547534525, 1
61547534526 2
61547534527, 2
£1547534528 4
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(a) 3 A%
(b)  foowomeH=
(c) I E

(d)  TENTERE

(1)  (a) 3 (b)
2  (b) 3 (0)
3)  (c) 3 (d)

4)  (d) W (a)

Options:

61547534525, 1
61547534526 2
61547534527 2
61547534528 4
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Who has advocated the scientific method for the study of social phenomena?

(a) A R. Radcliffe — Brown
(b) Emile Durkheim
(c) Max Weber

(d) B. Malinowski

Choose the correct option :
(1) (a) and (c)
(2) (a) and (b)
(3)  (b)and(c)
(4) (c) and (d)

Options:

61547534529, 1
61547534530 2
61547534521 2
61547524522, 4

Question Number : 108 Question Id : 6154758856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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(1) (a) 3T (c)
(2)  (2) 3 (b)
3)  (b) # (c)

4)  (c) 3R (d)

Options:

61547534529, 1
61547534530 2
61547534521 2
61547524522, 4
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Which of the following is correct about the informal education?

(a) It helps to bring social equality
(b) It helps to segregate people from the community
(c) It focusses on social aspect of learning

(d) It does not bridge gap between school and life

Choose the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (c)
(4) (c) and (d)
Options:
61547534533 1
61547534534 2

61547534535 3
61547534536, 4

Question Number : 109 Question Id : 6154758857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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=

(b)  TE T I FHEE H ST FA F e FAl 8

=

(c) ITE ITTH T TSI 987 W 9 odl §

(d)  I% =S R A F S H G R AR et

(1) (a) 3 (b)
2)  (b) # ()
(3)  (a) #E (c)
4) (o) & (d)

Options:

61547534533 1
61547534534 2
£1547534535 =2
E1547524536 4
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Which option is correct about the ‘Social fact” according to Durkheim?

(a) It 1s common 1n a given soclety
(b) It 1s common 1n every individual
(c) It 1s like thing

(d) It does not provide any pressure on the individual

Choose the correct option :
(1)  (a)and (b)
(2) (c) and (d)
(3) (b) and (c)
(4) (a) and (c)

Options:

61547534537, 1
£1547534538 2
61547524529, 5
615475234540 4
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(c) g 3% % 99 B

(d)  I7 5 =fe W gaE T8 ST @

(1)  (a) W (b)
(2) (o) T (d)
3)  (b) 3 (c)

4)  (a) # (c)

Options:

61547534537, 1
£1547534538 2
£1547524539 =2
615475234540, 4
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Correct Marks: 2 Wrong Marks: 0



Which are the essential characteristics of bureaucracy?

(a) Hierarchy of power
(b) Unlimited power
(c) Channelling of communication

(d) Informal relations between the officials

Choose the correct option :
(1) (b) and (c)
(2) (a) and (d)
(3) (a) and (c)

(4)  (b) and (d)

Options:

61547534541, 1
61547534542 2
E1547524543 =2
61547534544 4

Question Number : 111 Question Id : 6154758859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (b) W (c)
(2)  (a) 3 (d)
3)  (a) 3 (c)

(4)  (b) X (d)

Options:
E1547534541.

E1547534542,
B1547534543.
61547534544,
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In Indian weddings there is prodominance of what is called “Conspicuous consumption”. This
can be applied to indicate two things :

(a) Reflection of the caste of a person

(b) Display of wealth

(c) Providing expensive food

(d) Demonstration of one’s status

Choose the correct option :
(1) (a) and (b)
(2)  (¢)and(d)
(3) (a) and (c¢)

(4)  (b) and (d)

Options:

61547554545, 1
61547534546, 2
61547534547 =
615475345458 4

Question Number : 112 Question Id : 6154758860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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() o9 o U5
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(d) = FETe feafa =1 ugeE wen

(1)  (a) 3 (b)
2 () SR (D)
(3)  (a) 3 (c)

@ ()R (@)
Options:
61547534545, 1
61547534546, 2
61547534547 3
61547534548, 4
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Epistemology for a division includes which of the following?

(a) Objectivity
(b) Subjectivity
(c) Empiricism

(d) Rationalism

Choose the correct option :
(1) (a) and (b)
(2) (b) and (c)
(3)  (c)and (d)

(4) (d) and (a)

Options:

61547534549 1
615475324550 2
£1547524551. =2
615475234552, 4

Question Number : 113 Question Id : 6154758861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(a) T
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(c) HATHIATS
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(1)  (a) 3T (b)
2)  (b) I (c)
(3) () 3R (d)

4 (d) 3 (a)
Options:
61547534549 1
61547524550 2
61547524551, 2
61547524552 4
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Which two of the following states are most urbanized and least urbanized in India?

(a) Tamil Nadu
(b) Kerala
(c) Himachal Pradesh

(d) Assam

Choose the correct option :
(1) (a) and (d)
(2) (a) and (c)
(3) (b) and (c)

4)  (c) and (d)

Options:

61547534553 1
£1547534554 2
E1547524555 =2
615475234556, 4
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(1)  (a) 3 (d)
(2)  (a) 3 ()
(3) (b) 3 (c)

(4) (c) 3T (d)

Options:

61547534553 1
61547534554 2
61547524555, 5
61547534556, 4
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Match List A with List B :

List A (Books) List B (Authors/Editors)

(a) Family, Kinship and Marriage in (1) T.N. Madan

India

(b) Changing Kinship, Family and gender (1) Rajni Parliwala

relations
(c) Family and Kinship (111) Patricia Uberoi
(d) Marrying in South Asia (iv) Ravinder Kaur and Rajani Palriwala

Choose the correct option :

(1) (2)-@), (b)-(11), (c)-(v), (d)-(11)
(2) (a)-(1), (b)-(av), (¢)-(111), (d)-(1)
(3) (2)-(v), (b)-(1), (¢)-(1), (d)-(111)
(4) (a)-(111), (b)-(11), (c)-(1), (d)-(1v)

Options:

61547534557, 1
61547534558 2
61547534559 =2
E1547524560. 4

Question Number : 115 Question Id : 6154758863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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TE-A (TTF) Tq1-B (eiEs/|uEF)
(a) e, ferafm o afs =9 sfe () .. 7EH
(b) =S foRafRm, HFe Ug Fet Feww (i) TS TR ETe
(c) Thent vz foptam (i) BT e
(d) #fer =z ==y whE (iv) TareT R AR TH areraTe

(1) (a)-(@1), (b)-(111), (c)-(1v), (d)-(1i)
(2) (a)-(1), (b)-(iv), (c)-(iiD), (d)-(1)
(3) (a)-(1v), (b)-(11), (¢)-(1), (d)-(ii1)
(4) (a)-(i11), (b)-(i1), (¢)-(1), (d)-(1v)

Options:

61547534557, 1
61547534558 2
£1547524559 =2
615475234560, 4
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Match the type of technology with the time period in which they brodly originated and
evolved :

Type of Technology Time period

(a) Electronic computing, nuclear power, (1) Medieval period

genetic engineering

(b) Textile, Mining, Metallurgy (i1) 19% Century

(c) Sugar mills, paper mills, wind mills (i11) 18tk Century

(d) Transportation, construction, (iv) 20tk — 21st Century
manufacturing

Choose the correct option :

(1) (a)-@@), (b)-(11), (¢)-(111), (d)-(1v)
(2) (a)-(v), (b)-(111), (¢)-(1), (d)-(11)
(3) (a)-(ii), (b)-(v), (c)-(11), (d)-(1)
(4) (a)-(11), (b)-(1), (¢)-(i11), (d)-(Qv)
Options:
61547534561,
61547534562,

61547534563,
61547534564,

[ N
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(a) IOFIMEF TUET, AMvaE  WRE, Sf@e (1) HEIHSIE AT
st

(b) TFETRIEA, T, OTq fome (i) 1991 TraTeal

(c) I Taer, wrTe Toe, fas fae (iii) 184 TraresT

(d) wfae, wtE, ot (iv) 20d-214 wraTgt

(1) (a)-(1), (b)-(1), (c)-(111), (d)-(v)
(2) (a)-(1v), (b)-(ii1), (c)-(1), (d)-(i1)
(3) (a)-(11), (b)-(1v), (c)-(11), (d)-(2)
(4) (a)-(11), (b)-(1), (c)-(11), (d)-(1v)

Options:

61547534561, 1

£1547534562, 2

E1547534563. 3
B1547534564. 4
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Match List I with List II

Last I List IT
(Feminist Perspective) (Gender Issues)
(a) Cultural (1) Gender Inequality
(b) Liberal (11) Gender Oppression
(c) Radical (111) Structural Oppression
(d) Socialist (1v) Gender differences

Choose the correct option :

(1) (a)-(av), (b)-(1), (e)-(), (d)-(111)
(2)  (a)-@), (b)-G1), (¢)-1v), (d)-(11)
(3)  (a)-(1), (b)-(iv), (¢)-(11), (d)-(1)
4)  (a)-Gid), (b)-(d1), (c)-(), (d)-(1v)

Options:

61547534565, 1
61547534566 2
61547534567, 2
E1547524568. 4
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Correct Marks: 2 WrongMarks: 0
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(a) HEFHOH (i) AT =
(b) SEEaT! (i) STE A
(c)  eAfaaTar (iii) F=THF oA
(d) FHTSETE (iv) fom ¥e

(1) (a)-(av), (b)-(1), (0)-(1), (d)-(111)
(2) (a)-(), (b)-(11), (c)-(1v), (d)-(11)
(3) (a)-(11), (b)-(1v), (c)-(111), (d)-(1)
(4) (a)-(111), (b)-(1), (¢)-(1), (d)-(1v)

Options:

61547534565, 1
61547534566, 2
61547534567 2
E1547524568. 4
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Match List I with List 11

List I List IT
(Sociologist) (Book)
(a) K.M. Kapadia (1) Human society
(b) G.P. Murdock (11) Marriage and Family in India
(c) Kingsley Davis (111) Social structure
(d) P.N. Prabhu (1v) Hindu Social Organization

Choose the correct option :

(1) (a)-(11), (b)-(111), (c)-(@), (d)-av)
(2) (a)-(1), (b)-(A1), (¢)-(111), (d)-(v)
(3) (a)-(1v), (b)-(1d), (c)-(11), (d)-()
(4) (a)-(111), (b)-(@), (c)-(1v), (d)-(2)

Options:

61547534569, 1
61547534570 2
61547534571, 2
£1547534572 4
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(a) %.TH. FOIEA O T HEE
(b) A FEE (i) A Te S 3= sfea
(c) Toraet =fom (iil) =T T
(@ s uy (iv) Tomg ot sriTeSem

(1) (a)-(i1), (b)-(111), (¢)-(1), (d)-(Qv)
2)  (@)-1), (0)-Q), (¢)-(11), (d)-(Qv)
(3)  (@)-(iv), (b)-(iil), (¢)-(ii), (d)-(1)
(4)  (a)-(iii), (b)-(ii), (c)-(1v), (d)-()

Options:
61547534569 1

E1547534570. 2
E1547534571. 3
B1547534572. 4
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Match List I with List II :

List I List IT
(Sociologist) (Concepts)
(a) W.F. Ogburn (1)  Social evolution and social progress
(b) K. Marx (11) Civilization and culture
() A. Weber (111) Basic and superstructure
(d) L.T. Hobhouse (1iv) Material and Non material culture

Choose the correct option :

(1 (a)-1), (b)-(11), (¢)-(v), (d)-()
(2)  (a)-av), (b)-(11), (¢)-(11), (d)-@)
(3)  (a)-(1), (b)-(v), (¢)-(1), (d)-()
4 (a)-Q), (b)-), (¢)-(11), (d)-(v)

Options:

615475345731
61547534574 2
61547524575, 5
61547534576, 4

Question Number : 119 Question Id : 6154758867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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(TSR (FeheTT)
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(b) . HEA (i) —FEET TT TER
() T o= (i) FE9T TF ST
(d) TUH.d. FEEsd (iv) e T 7o T

(1) (a)-(11), (b)-(ii1), (c)-(1v), (d)-(1)
(2) (a)-(v), (b)-(iil), (c)-(11), (d)-@)
(3) (a)-(111), (b)-v), (0)-(11), (d)-()
(4) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)

Options:

61547534573 1
61547534574 2
61547534575 2
E1547524576. 4
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Match the following authors with their books

Author Books
(a) Pierre Bourdieu (1) Legitimation Crisis
(b) Jurgen Habermas (1) The Constitution of Society
(¢) Edward Said (111) Distinction
(d) Anthony Giddens (1v) Orientalism

Choose the correct option :

(1) (a)-(3id), (b)-@), (¢)-(v). (d)-(1i)
(2) (a)-@), (b)-(11), (¢)-(111), (d)-(iv)
(3) (a)-(111), (b)-(11), (¢)-(1), (d)-(1v)
(4) (a)-(11), (b)-(iv), (¢)-(11), (d)-(1)

Options:

61547534577, 1
61547534578 2
615475345793 2
£1547534580. 4
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S il =
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(a) R =G () AT e
(b) A FERHH (ii) 7 FIEIEIIH 16 AETF
(c) TSI G (iii) fefeerm
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TE T T

(1) (a)-(11), (b)-(1), (¢)-(v), (d)-(11)
(2) ()-(@), (b)-({1), (c)-(iid), (d)-(iv)
(3) (a)-(111), (b)-(11), (c)-(1), (d)-(iv)
(4) (a)-(11), (b)-(av), (e)-(111), (d)-()

Options:

61547534577, 1
61547534578 2
61547534579 2
615475324580 4
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Match List I with List 11

List I (Peasant Movement) List II (Place)
(a) Bardoli movement (1) Malabar
(b)  Moplah rebellion (11) Andhra Pradesh
(c) Peasant revolt in Telangana (111) Bengal
(d) Tibhaga movement (iv) Gujarat

Choose the correct option :

(1) (a)-(1), (b)-(111), (¢)-(1v), (d)-(11)
(2) (a)-(11), (b)-(111), (c)-1v), (d)-(1)
(3) (a)-(1), (b)-(11), (c)-(i11), (d)-(v)
(4) (a)-v), (b)-(), (e)-11), (d)-(1i1)
Options:

6154753458511

61547534582 2

61547534583, 3
61547534584, 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[
)

-1 1 gei-11 & =JY gaferg Fifaw

w1 -1
(T smgrer) (zam)
(a) @G ARG (i) HemER
(b) =TTE THETE (i) A TR
(c) qeFTHl 1 TFEW fagE (iii) =
(d) fawrm sEreE (iv) T=E

(1) (a)-(1), (b)-(i11), (c)-(1v), (d)-(i1)
(2) (a)-(11), (b)-(111), (c)-(1v), (d)-()
(3) (a)-(1), (b)-(D), (c)-(i1d), (d)-(1v)
(4) (a)-(1v), (b)-(2), (c)-(11), (d)-(111)

Options:

61547534581, 1
61547534582 2
61547534583 =2
E1547524584 4

Question Number : 122 Question Id : 6154758870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT

List I(Method) List II (Sociologist)
(a) Indirect experiment (1) A. Schultz
(b) Participant observation (11) W. Dilthey
(c) Phenomenology (111) Emile Durkheim
(d) Evolving typology of culture (iv) B. Malinowski

Choose the correct option :

(1) (a)-(@), (b)-(1D), (¢)-(111), (d)-(1v)
(2) (a)-(11), (b)-(av), (¢)-(1), (d)-(11)
(3) (a)-(1v), (b)-(1), (¢)-(11), (d)-(111)

(4) (a)-(1), (b)-(111), (c)-(1v), (d)-(1)

Options:

61547534585 1
E1547524586 2
615475234587, o
61547534588, 4

Question Number : 122 Question Id ;: 6154758870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 gEi-11 F Y gaferq Fraw, :

TA1-1 (farf) T -11 (Fersreme)
(a) AT TER 1) U e
(b) TR ST i) =z, fee
(¢) ¥ o (ili) AT Z@IEA
(d) FEFA F IET F TEE (iv) . HieHEEh

(1) (a)-(1), (b)-(1d). (c)-(iii), (d)-(1v)
(2) (a)-(11), (b)-(Qv), (¢)-(1), (d)-(11)
(3) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)
(4) (a)-(11), (b)-(111), (¢)-(1v), (d)-(1)

Options:

615475345551
61547534586, 2
61547534587, o
61547534588, 4

Question Number : 123 Question 1d : 6154758871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List I with List II

List I (Author) List II (Book)
(a) A. Bateson (1) Nature's Economy
(b) F. Berkos (11) The Ascent of Man
(c) J. Bronowski (111) Sacred Ecology
(d) D. Worster (1v) Steps to Ecology

Choose the correct option :

(1) (a)-(1v), (b)-(111), (¢)-(11). (d)-()
@) (a)-(id), (b)-(iid), (c)-(@), (d)-(iv)
(3) (a)-(11), (b)-v), (¢)-(1), (d)-(1)
(4) (a)-(1), (b)-(11), (e)-(ii1), (d)-(iv)

Options:

61547534589, 1
61547534590 2
61547524591, 5
61547534592 4

Question Number : 123 Question Id : 6154758871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THI-1 1 FEA-11 F Ty Fgafera Fife

et -1 (wa) T -11 (T%)
3) % e () e
(b) TE. SHE (i) 7 E= FE =
(c) . SR (i) TFE T
(@ @ aEx (iv) RTHZ TFErs
e o

(1) (a)-(v), (b)-(11D), (c)-(i1), (d)-(2)
(2) (a)-(11), (b)-(111), (c)-(1), (d)-(1v)
(3) (a)-(111), (b)-(av), (c)-(11), (d)-(1)
(4) (a)-(2), (b)-(1), (c)-(111), (d)-(1v)

Options:

61547534589, 1
615475324590 2
£1547524591. =2
61547524592, 4

Question Number : 124 Question Id : 6154758872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I and List I1

List I (Tribes) List II (State/Region)
(a) Khasi (1)  Nilgir1 Hills
(b) Toda (11) Meghalava
(c) Munda (111) Odisa
(d) Khond (iv) Chota Nagpur

Choose the correct option :
(1) (a)-(11), (b)-(1), (c)-(1v), (d)-(111)
(2) (a)-(), (b)-(11), (¢)-(iv), (d)-(ii1)
(3) (a)-(11), (b)-(1), (¢)-(11), (d)-Av)

(4) (a)-(1v), (b)-(111), (c)-(1), (d)-(11)

Options:

51547534593,
61547534594,
61547534595,
51547534596,

[ N

Question Number : 124 Question Id : 6154758872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 =1 ge-11 % =19 gafera I

-1 (S T -11 (T3 /&)
(a) T (1) e
(b) e (i) T
© T (i) =T
(d) @ (iv) BT AR

(1) (a)-(1), (b)-(D), (c)-(v), (d)-(i11)
(2) ()-@), ()-(i1), ()-(v), (d)-(11)
(3) (a)-111), (b)-(), (c)-(11), (d)-@1v)
(4) (a)-(1v), (b)-(111), (c)-(2), (d)-(11)

Options:

61547534593, 1
61547534594 2
61547534595 =
£1547534596. 4

Question Number : 125 Question Id : 6154758873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of different laws passed in India to improve women’s status in
soclety :

(1) Protection of Women from Domestic Violence Act, Panchayati Raj Act, Hindu
Succession Act

(2) Panchayati Raj Act, Hindu Succession Act, Protection of Women from Domestic
Violence Act

(3) Hindu Succession Act, Protection of Women from Domestic Violence Act, Panchayati
Raj Act

4) Hindu Succession Act, Panchayati Raj Act, Protection of Women from Domestic

Violence Act

Options:
61547534597, 1
£1547534598. 2



E154753459%5. 3
61547534800, 4

Question Number : 125 Question Id ;: 6154758873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THTS § Atgena 67 fTufa # gans % fou vyra | wiitd fafas 1 & 96 w59 6 e |

[ o O

(1) e o 5 wizen e stafaam, T=ed m sttafEm, T samfaed st

(2) AT ST STTEE, oy ITAHERT AtaEE, e TE | diee wma statem

(3) Terg STl STtafTam, =ee] fom & Afeen Faw SAtafem, = TS St
(4) o STt stfafrem, TemEdt T sttt e e | Ateen e sttt

Options:

61547534597, 1
£1547534598. 2
61547524599, 5
61547534600 4

Question Number : 126 Question Id : 6154758874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the below given states according to their level of urbanization in decending order :
(a) Tamil Nadu

(b) Maharashtra

(c) Kerala

(d) Punjab

Choose the correct option :

(1) (a), (b), (d), (¢) (2) (@), (¢), (b), (d)
(3) (c), (a), (b), (d) (4) (a), (d), (), (¢)
Options:

51547534601, 1
61547534802, 2
61547534603, 3
61547524604, 4

Question Number : 126 Question Id : 6154758874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= fou 23U TS T I T T AR F TR F STER S9aEgd o

(a) THTS

(b) HERTG

(c) T

(d)  TE

(1) (a). (b). (d). (c) (2) (@), (c), (b), (d)

(3) (c), (@), (b), (d) 4) (@), (d), (b), (¢)
Options:

61547524601, 1
E1547534602. 2
E1547534603. 3
51547534804, 4

Question Number : 127 Question Id ;: 6154758875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s the correct sequence of the following steps of social research?

(1) Data collection, data analysis, review of literature, report writing

(2) Data analysis, review of literature, report writing, data collection

(3) Review of literature, report writing, data analysis, data collection

(4) Review of literature, data collection, data analysis, report writing
Options:

61547534605, 1
61547534606, 2
61547534607, 3
61547524608, 4

Question Number : 127 Question Id : 6154758875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HTHTSTH I o H=ToAEd =0T &1 Je] %8 591 2 7

(1) ARSI oo, ATHS! 1 favergw, Fifeeg it Teten, fe o@=

(2)  SATHTT F ToyeTIwl, HIEeT 1 THET, TOE oG, SATFS] The
(3)  wfeey & wHEE, O oEE, SRSt 1 favege, stiee g9
(4)  wIfEcy ® THiET, Aiwe] gHed, el F favergo, TR oe@q

Options:

61547554605, 1
61547534606, 2
61547534607, =
61547534608, 4

Question Number : 128 Question 1d : 6154758876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the correct sequence of the elements/parts of a research report?

(1) Area of study, data presentation, conclusion, rationale of the problem

(2) Rationale of the problem, area of study, data presentation. conclusion

(3) Data presentation, conclusion, area of study, rationale of the problem

(4) Rationale of the problem, conclusion, area of study, data presentation
Options:

61547534609 1
61547534610, 2
E1547534611. 3
E1547534612. 4

Question Number : 128 Question Id : 6154758876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Iy I o6 qedt /9RO HE 5 a1 g 7

(1) FETEE T G, ATHSH T TR, HoRd, THET Tl G

(2)  TEET S GEEIAAl, SETIT T &F, TR N TEGA T, e

(3) HATHST ;;' Eal Hﬂdhlt&':{ul, oY, 37999 o1 &7, JHET 4l aeheadl,

(4)  TEET i TR, TR, SETET T &7, SRS 1 e R

Options:
61547534609, 1
61547534510 2



E1547534611. 3
B154753481%. 4

Question Number : 129 Question Id ;: 6154758877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which set of International Development organizations work towards fighting against
poverty?

(1) ILO, UNICEF, WHO, UNHCR, The Red Cross

(2) Oxfam, UNDP, UNICEF, The Red Cross, The Hunger Project
(3) World Bank, WHO, IMF, UNDP, ILO

(4) UNHCR, CEDAW, UNICEF, IMF, Oxfam

Options:

61547534613, 1
61547534614 2
61547534615 2
61547534816 4

Question Number : 129 Question Id : 6154758877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

~ s

AL [T A1 1 B |1 Fg==g [Heaa F fovg 999 1 F o #19 Far 27

(1) HTE.UA. 3T, .09, AE.H1.5.TF, T U3, I UA.TTHL.3R, 5 15 FF

=\

(2)  AEHH, 2,02, .. 98 H 5, 7 1T FiE, § TR A
(3) TS 9%, T UALAL., IE.UA.UE., I.OA.SLI., 8T,

(4) I ETEHLAN., H1.3.51. 0550, 9.U9. 5. H.3.U%., 35.UH.TF., SHT

Options:

615475346131
61547524814 2
61547524615, 5
61547534616 4

Question Number : 130 Question Id : 6154758878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following technological revolutions in chronological order

(a) Green revolution

(b) Printing revolution

(c) Industrial revolution

(d) Bio-technological revolution

Choose the correct option :
(1) (b), (a), (c), (d)
(2) (b), (¢), (@), (d)
(3)  (d), (c), (b), (a)

4)  (a), (b), (), (d)

Options:

61547534617, 1
61547534618, 2
1547534819 2
E1547524820. 4

Question Number : 130 Question Id : 6154758878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ o

e feTad TgaTTehia ShITCaT i el HAAR sFaedd T

(a) Ta ST

(b) HG EAIG] (Printing revolution)

(c) STTEITRTeR SR

(d) - I

20 G
gl T d T :

(1) (b). (@), (c), (d)
2) (b)), (0), (@), (d)
(3)  (d), (¢), (b), (a)

4)  (a), (b), (0), (d)

Options:

61547534617, 1
1547534818 2
1547524819 2
615475234620, 4

Question Number : 131 Question Id : 6154758879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following forms of urban areas in ascending order :

(a) Megacity
(b) Meta city
(c) Metropolis

(d) City

Choose the correct option :
(1) (a), (), (b), (d)
(2)  (d), (o), (a), (b)
(3) (), (o), (d), (@)

(4)  (a), (b), (¢), (d)

Options:

61547534621, 1
E15475324822 2
61547534622, 5
61547534624 4

Question Number : 131 Question Id ;: 6154758879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frfefea ot &= & o= F1 954 30 FH § =ateld Hira
(a) T (Mega city)

(b) T (Meta city)

(c) AeA T (Metropolis)

(d) T (City)

(1) (a), (c), (b), (d)
(2) (d), (c), (a), (b)
(3) (b), (¢), (d), (a)

4)  (a), (D), (), (d)

Options:

61547534621,
61547534622,
61547534623,
61547534624,

[ N

Question Number : 132 Question Id : 6154758880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following mega cities in decending order according to their rate of growth during
2001 — 2011

(a) Kolkata urban Agglomeration
(b) Greater Mumbai Agglomeration

(c) Delhi Urban Agglomeration

Choose the correct option :

(1) (c), (), (b) (2) (@), (), (b)
(3) (b), (c), (a) (4) (a), (b), (¢
Options:

B1547534625. 1
61547534826, 2
E1547534627. 3
61547524625, 4

Question Number : 132 Question Id : 6154758880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frfetaa s mfEdt 7 2001-2011 F Tt 7 3901 915 &% F Fe0 9 F STHR sFaredd i |
(a) IS I IH FHE

(b)  F7d grEE S FHE
(c) Tooett wredt <9 TgE

(1) (e), (@), (b) (2) (@), (c), (b)
(3) (b), (c), (a) 4) (a), (b), (¢)
Options:

61547534625 1
E1547534626. 2
E1547534627. 3
E1547534625. 4

Question Number : 133 Question Id : 6154758881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following i1s the correct sequence of the steps in data analysis?

(1) Rounding off, Categorization, Tabulation, Applying any test

(2) Categorization, Tabulation, Applying any test Rounding off

(3) Tabulation, Applyving any test, Categorization, Rounding off

(4) Applying any test, Rounding off, Categorization, Tabulation
Options:

B1547534629. 1
615475346830, 2
61547534621, 3
61547524632, 4

Question Number : 133 Question Id : 6154758881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= foTfaa B = 19 |7 2I7hs Taveae & =On 1 HE FH 27

(1) YOI, SfioRaoT, BTTieRoT, Toreft Taveqer o1 T § ST
(2) FeTeRToT, FROTRoT, Tohet Tieror st T | ST, T
(3)  TWviteRor, ToRet TH&ToT T UFT F T, SR, Y
(4) TR T0Erer 1 UE B A, QO ST, FRERTeT

Options:

61547534829 1
61547524620, 2
61547534621, o
61547534632 4

Question Number : 134 Question Id ;: 6154758882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What is the correct sequence of publication yvear of following books on Indian Rural Society?

(a) An Indian Village
(b) A Rajasthan Village
(c) India’s Changing Villages

(d) The Remembered Village

Choose the correct option :

(1) (a), (b), (), (d)

(2) (b), (), (d), (a)

(3) (a), (c), (b), (d)

4) (), (d), (a), (b)
Options:
615475546353, 1
61547534624 2

61547534635, 3
61547534636, 4

Question Number : 134 Question Id : 6154758882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT IO FET W g g Akt & TR o9 R R HE R a9 8 ¢

(a) W zfeeae faem

(b) € oy faes
(c)  sfeam af=m famsm

(d) = fo=e foos

TE TaeT =4

(1) (a), (b), (c), (d)
(2) (b), (¢), (d). (a)
(3) (@), (c), (b), (d)

(4) (c), (d), (a), (b)

Options:

615475546353, 1
61547534624 2
61547534635 2
61547534636 4

Question Number : 135 Question 1d : 6154758883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Two statements are given below. One i1s labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) :  After the green revolution of inter-caste relations have changed from

Jajmani to contractual relationships.

Reasons (R) : The green revolution has given opportunities to service castes in diverse

occupations

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

61547534637, 1
61547534838 2
61547524629, 5
61547534640 4

Question Number : 135 Question Id : 6154758883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 71 Fem fou 9 2, T @ w stfysem (A) 2 T aE (R) 2

ATTFRYT (A) : BUG FG o % ATAME Fa94 TTqHT F AiFgeqds g947 § S99 8 79 2

% (R) : & #1fq 7 Hamrg iaa 1 f&@fas Thr & s9a9mE § 99 F 399 UTH )
Eﬁﬁquﬂﬁl

(1) (A3 (R)TH =& # & (R), (A) Ft 7 = @

(2) (AT (R) 1 T8 & = (R), (A) Fit 78 = 76 7

(3) (A) =€ 2, TR (R) 7o 8

4)  (A)7ea 8, ©ifR (R) 98 8

Options:

61547534657 1
61547534638, 2
61547534639 2
61547534640 4

Question Number : 136 Question Id : 6154758884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Given below are two statements one is labelled as Assertion (A) and the other as Reason (R)

Assertion (A) : Women’s participation in the industrial work force has reduced over the
years.
Reasons (R) : There has been expansion of the industry and increasing automation

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

1547534641, 1
E15475324842 2
61547524642 o
61547534644 4

Question Number : 136 Question Id ;: 6154758884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 21 ed fou o B, TS | v afases (A) ® @ g s (R) 2

AYFYT (A) : o 991 # 3= F4 91 § Afgennsn & Yrgr] =92 T 2|
% (R) : 35 1 95a1 8 1 2 3 WAl (automation) ¥ ghg 7 TE 2|
(1) (AT R) T T & AR (R), (A) FI #E1 =1C &

(2)  (A)3 (R) zH &8 2 =64 (R), (A) 1 T8 = 98 2

(3) (A& 7, A (R) T4 2

(4) (A 7 2, oA (R) T8 2

Options:

61547534641, 1
61547534842 2
E15475324843 =2
61547534644, 4

Question Number : 137 Question Id : 6154758885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements, one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Social institution of marriage has undergone many changes in modern
India

Reasons (R) : Indian youth are getting influenced by western ideas

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

61547534845 1
1547524646, 2
61547534647, o
61547534648, 4

Question Number : 137 Question Id ;: 6154758885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= a1 HYF Tou U §, 59 9 U At (A) 2 9 g O (R) 2

AfHYA (A) @ YT vra 7 foame it FmTEE qE 95 | Tedal 7 et 2
7% (R) : W a1 uf=m ¥ fomml ® wfam & = #
1) @3 ®) A FE E R), (A) Fi =& =mE R

2)  (A)a R)TH T8 & T (R), (A) i1 HE == T6 8

(3) (A H& B, =T (R) Toid 2

(4) (A) TTeTd 2, St (R) 981 8

Options:

61547534645, 1
61547534646, 2
61547534547 2
1547534548 4

Question Number : 138 Question Id : 6154758886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : Green revolution in Punjab has resulted into many ecological problems.

Reasons (R) : It is due to over exploitation of land and underground water, and over use

of pesticides and fertilizers for more production.

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not correct explanation of (A)
(3) (A) 1s true, but (R) 1s false
(4) (A) 1s false, but (R) 1s true

Options:
61547534649 1

E1547534650. 2
615475346851, 3
615475346852, 4

Question Number : 138 Question 1d : 6154758886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= o1 FeA fou e g, e ® v st (A) @ 550 % (R) 2

0] R - T

TR (A) : EEIEE- FFU-I FTd o FHEO Gﬁ arEfaR e FaETsT 30 gél

7% (R) : Ao somes & fom qfe, ufrme 591 #71 onfa 3w o oo 3 moafr gmet 1 afg =

F FEEIET I8 5T 2

E e =

1) A3 R)ZE =E T AR (R), (A) Fit 76 =T 2

@) (A3 R)FE =E & g (R), (A) F = ==Te T 2
(3) (A =@ B, S (R) T 2

(4) (A Ted B, @A (R) T8 2

Options:

61547534649, 1
61547534850 2
E1547524851. =2
61547534652, 4

Question Number : 139 Question Id : 6154758887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : Representation of women by media reinforce the stereotype rather than
challenging them.
Reasons (R) : Media serves the power elite.

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false, but (R) 1s true

Options:

61547534653, 1
61547534854 2
61547524655, 5
61547534656, 4

Question Number : 139 Question Id : 6154758887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr 21 Fem fou T, e ® e sty (A) % &7 ° a9 550 0% (R) % 9 ¥ SR o e 2

AMFYT (A) : HTET gHT AfEeeT T UM TeaTedr & ag 2 7 T AT Tge T 2

% (R) : Hife=n oits 909 I==-a11 &1 Teand == =t 2

(1)  (A) 3 (R) aAT 761 & 3 (R), (A) it #e1 =me 8
(2) (A R) T =E E 31 (R), (A) F FE = 76 2
(3)  (A) =& R, wfe (R) #El & ®

@) QETER ™ R) TR

Options:

61547534853 1
61547524654, 2
61547534655 o
61547534656, 4

Question Number : 140 Question Id ;: 6154758888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : The globalisation has iIntensified exclusion, marginalisation

disconnection among different classes of people and regions.

Reasons (R) : It 1s due to economic reforms.

Choose the correct option :

(1)

(2)

(3)

(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false but (R) 1s true

615475346857, 1
61547534658, 2
61547524659, 3
E1547534660. 4

and

Question Number : 140 Question Id : 6154758888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=1 21 foeer fou o - U w9 (A) 91 g0 T (R) F T H o0 2 ¢

AR (A) : ATAFET F FA qAT A F fAfE a6 o uSe HHeT 99T SAEEge i s
E=IRd

% (R) : T8 oTfde agemal & 0T g7 2

HE faeed T

1) (A7 (R) a1 =8 §, W (R), (A) 1 = =we

(2) (AT (R) i T8 &, ® (R), (A) it T8 =9 78 2

(3) (A) =& 2, =g (R) 78 78 ®

(4) (A =E 78 7, Wg (R) 78 2

Options:

£1547534657. 1
E1547524858 2
615475234659, o
61547534660 4

Sub-Section Number: 2
Sub-Section Id: 615475386
Question Shuffling Allowed : Yes

Question Id : 6154758889 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

Read the following passage carefully :

In all regions of India, Villages are changing in respect of economic institutions, power
structure, and inter-caste relationships. A major of economic change is land reform which
has created great sociological impact on village social structure, even though its economic
impact may be subject to controversies. Land reform in villages has been introduced
through : (1) abolition of intermediaries, (i1) tenancy reforms, (i11) ceiling on land holdings
and redistribution of land (iv) consolidation of holding and prevention of holdings from
deteriorating to uneconomic size, (v) Emphasis on and development of cooperative farming
and (vi) religio-economic movement for gift of surplus land by the rich to the poor as
bhoodan. These measure have been implemented differently in different states but they have
created uniform sociological consequence.

Answer the following of questions (91 — 95) on the basis of the above passage.

Sub questions



Question Number : 141 Question Id : 6154758890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which respect (s) Indian villages are undergoing change?

(a) Economic Institutions
(b) Leadership style
(c) Relationships among castes

(d) Familial Relationships

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (a) and (c) (4) (b) and (d)
Options:

61547534661, 1
61547524662, 2
E15475346E3. 3
E1547534664. 4

Question Number : 142 Question Id : 6154758891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T

Which has been the major source of economic change in Indian villages?

(1) Law of Inheritance

(2) Panchayati Raj

(3) Land reforms

(4) Rural development programmes

Options:

61547534665, 1
61547534666, 2
61547534667, 2
61547534668 4

Question Number : 143 Question Id : 6154758892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following has had a great impact on the units of social structure in the villages

of India?

(1) Legislations

(2) Land reforms

(3) Education

(4) Political processes

Options:

61547554669, 1
61547534670, 2
61547534671, 2
61547534672 4

Question Number : 144 Question 1d : 6154758893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which are the measures of land reforms that have been implements in the villages in India?

(a) Ceiling on land holding
(b) Panchayati Raj
(c) Bhoodan

(d) Law of Inheritance

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (a) and (c¢) (4) (b) and (d)
Options:

E1547534673. 1
E1547534674. 2
615475346875, 3
61547534676, 4

Question Number : 145 Question 1d : 6154758894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



How land reforms in different regions of India have been implemented?

(1) At the same time

(2) In the same manner

(3) Differently but at the same time

(4) Differently in different states at varying times
Options:

E1547534677. 1
E154753467E. 2
B1547534673. 3
515475346880, 4

Question Id : 6154758889 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)

Juestion Label - Comprehension
qrd & TH & & M § HANIE TEATSA], U WA UG S dE JS4] % Uied ¥ w6 geered '
2 2| T UgE ATdE ggend & - 9m gun, e e £ ametse s woag ameied I9E S 8,
JggM™, T ANIF T9E W FTH fgars 2| AT H Y YR Aefargd F A@eIm | fu T o# -
(i) WeTEE FT AT ; (i) TR U ® GUW; (iil) A % TENHEa HETE q9 JH 1 HEa; (iv)
A FT TFREE U1 Y F W-ATIF SRR (ST ) 9F FH ' F T (V) TR @dl I e
T 3 T T SR (vi) G T B SN gR TOEl i AR JfF STR § o % o -

T U T Tt T ® AT -STen ah § R R T R, W 3 3 U THE SETSE
E N "~ w‘\ EE .t %[

Sub questions

Question Number : 141 Question Id : 6154758890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qTdta i =8 | foas 99y § ufafda g1 @ 87
(a) AT F T
(b)  qed T
(c)  raET & st= Fae
(d)  ieTies JEy

(1)  (a) & (b) (2) (b) 3 (c)
(3)  (a) 3 (c) (4) (b) 3 (d)

Options:



E1547534661. 1
B1547534862. 2
61547534863, 3
61547534664, 4

Question Number : 142 Question 1d : 6154758891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=99 T 9 YR TEl H SANGFR-TadT o FF F T 91 B 87

(1)  SOUkFR w1
(2) T TS

(3) o FHR
(4)  TTHOT ToETE F FTEEE

Options:

61547534665, 1
61547534666, 2
61547534667, 2
1547524868 4

Question Number : 143 Question Id : 6154758892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ S 2 £

it NG [t 3 b [ e - o =
WG o TIal Sl |TETSS T0EA1 R Zheal U Fefeiad § 5 e s U w2 Y

(1)  foam

(2)  qF gam

(3)  fam

(4) TSI TTHaTe
Options:

E154753466%9. 1
B1547534670. 2
B15475346871. 3
E1547534672. 4

Question Number : 144 Question 1d : 6154758893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g o Tat °§ Y G 6 FA-F 0w REaa e w2 e

oS r

(a) oy T STEEETFA

-

(b) T T

(c) 1o

(d)  STIIFR FA

(1)  (a) 3 (b) (2) (b) 3 (c)
(3)  (a) 3 (c) (4) (b) 3R (d)
Options:

E1547534673. 1
E1547534674. 2
615475346875, 3
B1547534876. 4

Question Number : 145 Question 1d : 6154758894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qTA o Tafad & 9 R-gan = 5 TR Gt e e

(1) TwHeE A
(2) TFTETH

(3) Ao TEEW H g UF F FHA

(4)  Tafeas o= | S-S0 9 W

Options:

61547534677, 1
61547534878 2
15475324879 2
61547524680, 4

Sub-Section Number: 3
Sub-Section 1d: 615475387
Question Shuffling Allowed : Yes



Question Id : 6154758895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Read the following passage carefully :

According to the 2011 census, there are 7,935 towns in the country, an increase by 2,774 (or
a whopping 53.75 per cent) since 2001. It is significant to note that the growth has been most
noticeable in census towns (1.e. 185.90 percent). Many of the towns recorded by the census
are part of urban agglomeration. The 2011 census identified 475 urban agglomeration with
981 outgrowths, as against 384 urban agglomerations with 962 outgrowths in the 2001
census. The total number of urban (Agglomerations/Town which, constitutes India’s urban)
frame 1s 6.166. However, the major surprise was the number of census towns/(CTs) which
rose from 1,362 to 3,892, where as the number of statutory towns (STs) increased marginally
from 3,799 to 4041.

The Census 2011 found that, in all 37% millian (or 31.16 percent) of the country’s population
lives in urban areas. The census, classifies urban Agglomerations on the basis of their
population. Urban Agglomerations/Towns which have a population of atleast 100,000
persons are categorised as class I urban Agglomerations/Towns. In 2011, there were 468
Urban Agglomerations/Towns, an 18.78% increased from the corresponding number (394) in
2001; a majority of 70% (or) 264.9 million of the total urban population lives in these
Agglomerations and towns. The census notes “The proportion of this population has
increased considerably over the last census”. In the remaining classes of towns the growth
has been minimal.

Answer the following questions (96 — 100) on the basis of the above passage :
Sub questions

Question Number : 146 Question Id : 6154758896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the rate of increase of Census towns during 2001 to 2011?

(1) 180.00% (2) 185.90%
(3) 170.60% (4) 176.70%
Options:

61547524651, 1
E1547534682. 2
51547534683, 3
51547534884, 4

Question Number : 147 Question 1d : 6154758897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many towns were 1n India in 20017

(1) 5132 (2) 5161
(3) 6161 (4) 6102



Options:

61547534685, 1
61547534886 2
E1547524887. 2
61547534688, 4

Question Number : 148 Question Id : 6154758898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Class — I Agglomertions in India should have atleast the population of :

(1) 50,000 (2) 1,00,000
(3) 10,000 (4) 99,999
Options:

5154753468859, 1
61547534630, 2
61547524631, 3
E1547534652. 4

Question Number : 149 Question Id : 6154758899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the percentage of population to the total urban population which lives in class-I
urban Agglomerations and Towns as per 2011 Census?

(1) 66.0% (2) 70.0%
(3) 72.0% (4) 62.0%
Options:

515475346853, 1
615475346394, 2
61547534635, 3
E154753465E6. 4

Question Number : 150 Question Id : 6154758900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How many urban agglomerations were added between year 2001 — 20117

(1) 115 (2) 99
(3) 13 (4) 101
Options:
E1547534897.
61547534698,

E1547534695,
515475234700,

[ N



Question Id : 6154758895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

ffAtEd 3570 1 &9 9 g ¢

9 2011 F SIOET F STHERE, W H 7,935 WE 3, TEE 2001 T 2,777 wel H qhg (UM 53.75
faeTa IV ) BE 2| T8 98 wEa @ afg wEa: S wed (i) (19t 185.90 wfawa) |
SRt TS 2| SO § TR ToRw T owe § @ o ot SHege (Sd) a9t 97 2| 9d 2001 SO
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TEF 1362 ¥ 3892 B TE 2, Falh HIGTIF e (THIS) H HEA H 3,799 F 4041 FH AF IG5 T
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Sub questions

Question Number : 146 Question Id : 6154758896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a4 2001 5 2011 & 7eg SHOMT e (Hd) i ghg-aw = A

(1) 180.00% (2) 185.90%
(3) 170.60% (4) 176.70%
Options: o

61547534681, 1
61547534882, 2
61547534683, 3
61547524654, 4

Question Number : 147 Question Id : 6154758897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2001 °, 9d § Toha= o 97

(1) 5132 (2) 5161
(3) 6161 (4) 6102

Options:



E1547534685. 1
61547534886, 2
61547534887, 3
61547534658, 4

Question Number : 148 Question Id : 6154758898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I H, o -1 % W ° FH H T A Rl g weg ?

(1) 50,000 (2) 1,00,000
(3) 10,000 (4) 99,9

Options:

61547534689, 1
61547534690 2
61547534691, =
61547534892 4

Question Number : 149 Question Id : 6154758899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
4 2011 T STFVET F ATER TS e FAEEIT F AT H TRAAT Tiawd el SHEEET g, S s -1 med
AR /e H war g v

(1) 66.0% (2) 70.0%
(3) 72.0% (4) 62.0%
Options:

E15475346593. 1
615475346854, 2
61547534635, 3
615475246396, 4

Question Number : 150 Question Id : 6154758900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 2001 ® 2011 & &= Tha" W& SHHHRT Hl IG5 85 7

(1) 115 (2) 99
(3) 7 s (4) 101
Options:

61547534637, 1
E15475346%595. 2



E15475346395. 3
61547534700, 4



